Question Paper Title : TAIT_PAPER_1

Date of Exam : 2017-12-12 09:00:00
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THR dl W1E 3MTg a1 g 3ie.
A. Tl ST 3TR.
B. Tl ¥TE T8l
C. dl gd 33,
D. dl 7d A8l

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

He is either smart or fool .
A. He is smart

B. He is not smart

C. He is fool

D. He is not fool

i S gshse Shse granl gu R 5wl Sl gl el e Jlaamy Sum des SO e dise g iyl
ot Githe S glu 58 je ihie daa g3 5ol by S o U 55l S e o gae g0 Alea D Gl

gy b o e Sl
A Jbises-

B Jladses-
Cs\\_i_gﬁ_,:_u_,.
DS\J:\?.'\&_EJE_,C_M_,.

AAC
AAC
AAC

B.DA
B.DA
B.DA

cCB
Cc.CB
c.CB



Answer:

Answer:

Answer:

D.AB
D.AB
D.AB

B.DA
B.DA
B.DA

Choose the word which is opposite in meaning to the given word.
ADULTERATION

A Purification
B.Contamination
C. Pollution

D.Bribery

A Purification

3RS T YeaTaT JHMT s HI0ET 2

AEfsd
B.3rquf

C.{aT

D.3{ef'

C. e

gAqd 3Ue WS $S §1dd?
Where does a Bulbul make its nest?

¢ o Ul D g8 Lyl Joby



AU
A.Hedges
A o3l

B.g¥sU

B.Bushes
B. ux uslles

C.21g1 HUuT 311for s
C.Both hedges and bushes
C.u usisr usidles U3l Lol

D&% UHgl A8l

D.None of the above
D. U DS o ute Yz j2ie

Answer: C .31 DUur AT gsu
C.Both hedges and bushes

C.uxe usisr gsdle> o3l ussh

5 19 S 1440 Sl SIS HIVAI dR BIdl?
What was the day of week on 19" June 14407

19 fle3 o0 L S 1€ 0 £ 1440 05>

ATEAR
A.Thursday

A_l;il_}n.n;_';

B.g4dRR
B.Wednesday
B.ax

C.X[PdR
C.Friday
C.rzan

BREGIN
D.Saturday
D. ot

Answer: C.YPdR
C.Friday

(OIPEPEN



6 frkar: Rae Rrseiaye AT g fraga sfereT qof &0
DIRECTIONS: Complete the series by choosing right figure from the given choices.

T NI ST o SIPE-LU Y o § SCRPRCH ) 5= SI LY g | PO BV
—— Pt T > 103 ey A

— -

AAJA[

(A) (B) € (D)

(8)

(©)

(D)

(A)

Answer:

S0, [ (D] [D>o| >

(€)

7 Choose the word which is most similar in meaning to the given word.
BEGIN
A.Commence
B.Cease
C.Conclude

D.Terminate

Answer: A.Commence



8 Heitdl aFf Ul ATd JHT 318, U o'l Gl-e! STofH1 Adoa] RIMIAR ST 3118, aR ¥id TRl ol geit 3igd
?

A class of girls stands in a single line. One girl is ninth in order from both the ends. How many girls are
there in the class?

= OASH (S ae S 3 588 e Dsen 05190 SO S o o BeS e IS o Sl S (S 5K

A27
A27
A27

B.17
B.17
B.17

C.38
C.38
C.38

D.39
D.39
D.39

Answer: B.17
B.17
B.17



Answer:

a1 : Wieiid U UYId i faer | 3for 11 feie 3med. 8 faur Uehdr Tada SRUI 3Ry AHhdId fbal T
PRUTY URUMH 3R AHdId. Jidd] TP AU IR Aeran RO 3 Adbdl. Gi-e! (e ardm ffor
Greliades! Il IR Ay a1 <1 fayHinedid ddui= 9o Sd d ol

ICEIGE
. X S U] ARTRSGTAIS! UruIe fard Har 311s.
1. X ST QY RUATRT= GHR dis I1d dNTd 3178,

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:
I. Country X has made passport compulsory for its citizens.
Il. Country X is facing problem of illegal migrants.

iy 52 e dlsm 2 il | ol 11T S Ul v gn B gl gn S )i Sciligay A s bclisay o)
OB Sl o K 208 (nSabad )5l g5y Al s 2 B 5 5318 £ s gl S e UL
'5"‘3.)5 .)"U“ C“"—g-}&:)S le'j I...?I‘T'“ Jjéatﬂ-.‘:’ Ul

<l

| =X -z b S oY Sy A St 3 sk
I1-X -2 G Alisae 1S Gt oaal 3l 2 S S

A YT | FRUI 318 30T [AE 11 I URUMH 3MTe;
A.Statement | is the cause and statement Il is its effect;
A i G| s O 58 i mas - 1S

B.fa4M 1| SR 3i1g 31U [ | @ran gRunH 3M18:
B.Statement Il is the cause and statement | is its effect;
B. sadlell g os) s = SIS

C.fa4m 1 3for 1| 6 Wdd RO 3MMed;
C.Both the statements | and |l are independent causes;
C. i by gyiga | jaad ool [ g Slagn g 3030

D.faem= 1 3for 1 Q18 Wdd R gRkumd 3red;
D.Both the statements | and |l are effects of independent causes;
D. s lly gsign | e 5ol ] op 5 S sa s o5

B.faum 1| SR 3118 31for faer | @ran uRkomy srre;
B.Statement Il is the cause and statement | is its effect:
B. sadnll gz sl 25| = A S G



10

Answer:

1

Answer:

1 TSRS BT HAT ST 315, F1 JITd e [IRANor sfiesar.

Adl

B ZTSRATal!

C. 1]

DA

C. o131

g Rydita Tamrn siieT gfgHar uras! it Saradl Js, T

How an infants intelligence level be increased under normal condition.

= Sl Wa 5y € S s (S a1 (S sa e Vs Gle

A FRI&A FTATaRU IUAR HEA G
A.providing a secure environment
ACUT‘C“JS 'l:\t-nd_ga‘.n.hﬁud_j

B. A SARIUNH 4715 3
B.keeping the child away from others
B.2s S0 050 s st S

C.AgH! ferderg eam

C.smiling often
C. =5 S S adigay

D.(a)d (c)
D.(a) and (c)
D.((a s (0)

D.(a) d (c)
D.(a) and (c)
D.((a s (c)



12 WRATAT ATFTET WIATTTHI FIOTAT Fcadl HTFcAT ASAAT ATed?

Which of the answer figures is embedded in the question figure?

St b 523 il LSS (e S8ty

T ATHAL:
Question Figure:
: S8 Al

<

SJALATHAT:
Answer Figures:
553 gl

(A) & (B)
(€) & (D)

(@) (A)
(b) (B)
(c) (C)
(d) (D)

A |

Answer:  (b) (B)

13 HTciiadd] s a1 Ivd 2

Al feaq =iren el .
B.df feaw =imren e,
C.dt feag =i e,
D.dl feag =i e,

Answer: D < f&aw IiTar e



14 Yiad &g €l:
3972 + 7646 + 8791 + 2763 + 9437 =?

Simplify:
3972 + 7646 + 8791 + 2763 + 9437 =7

osiliy ol
3972+7646+8791+2763+9437="7

A.32609
A.32609
A.32609

B.25630
B.25630
B.25630

C.32405
C.32405
C.32405

D.78512
D.78512
D.78512

Answer: A.32609
A.32609
A.32609

15 5/12 T TahdRId BUiaR B,

Convert 5/12 into percentage?

512 S diasi s e 2a (3 S

A.42%
A.42%

A.42%

B.40%
B.40%

B.40%



C.41.67%
C.41.67%

C.41.67%

D.43%
D.43%

D.43%

Answer: C.41.67%
C.41.67%

C.41.67%

16 URMYS SIaRdl JINTE B 3T8.

What is the age range of early adulthood.

= S byl (S e S b S

A.60-80
A.60-80
A.60-80

B.45-55
B.45-55
B.45-55

C.20-40
C.20-40
C.20-40

D.35-65
D.35-65
D.35-65

Answer: C.20-40
C.20-40
C.20-40



17

Answer:

18

Answer:

Rt T=reg] AFRe SRS Hald I eRS Sradd ucsd Ul Halfad—
Probably the factor most detrimental to the Mental-health of the teaching profession is—

fmaiu@h&m&éhm&hjé@(whuﬁﬁ;}h@—

A SHfasi® Risfauamr 4R, 321, Fafearey faemif srycn o
A.Excessive teacher load, e.g., overcrowded class-rooms
Apso o8 e e g3 sk S dlegased) iy iy alul

B.3{icR-safdiTd oy
B.Inter-personal conflicts
B.ile 3l b

C.¥qd:dl GoIHS Rl oerd HruarA] el SHdaRd
C.Lack of opportunity to express oneself creatively
CoS S S S8 LBISas 5 sk Al

D.UHIRYYUNAIE Rydl.

D.Monotony.
D.-5a, Ky

D.UHIRYYUNAIE Rydl.

D.Monotony.
D.- %,

Out of the given options, choose the most appropriate one to fill in the blank.
The boy on the burning deck.

A.stood

B.have stood

C.have stand

D.has stand

A.stood



19

Answer:

20

Uo1 fafy Fichfdes HINHE, SR PANCREAS 81 Usg SAERCNAP 31 ed el Sild 318, STADIUM
Bl eg T YINd HHT HeaE Bl ARd?

In a certain code language, if the word PANCREAS is coded as SAERCNAP, then how is the word
STADIUM coded in that language?

Lil &1 e s S aidin o sats Y PANCREAS € SAERCNAP Lil e (i ol 58 ¢ aleSI STADIUM <
Aalesd e

AMUDIATS
A.MUDIATS
A.MUDIATS

B.MUDIAST
B.MUDIAST
B.MUDIAST

C.MUIDATS
C.MUIDATS
C.MUIDATS

D.MIUDATS
D.MIUDATS
D.MIUDATS

C.MUIDATS
C.MUIDATS
C.MUIDATS

U] FaT: Wieitel Afera! guf .
A,B,D,G___ P

DIRECTION: Complete the following series.
A,B,D,G___ P

G S eSS i 2 piencls

A,B,D,G, P

AK
AK
AK

B.T
B.T
B.T



CL
G.L
C.L

D.H
D.H
D.H

Answer: AK
AK
AK

21 ¢ Wrcita uyiAed Uy famgrean (7) SRl SIvrd Sicrl I A/l 847 (TR Sigd Hed $Ieudrd Sruférd
L)
31+3x15=7

DIRECTIONS: What approximate value should come in place of the question mark (?) in the following
questions? (You are not expected to calculate the exact value)

31+3%x15=?

B by niadili 0 3 S (S (?) QL3 IS ) s s Jlgue i3 n 5k 1l
(= o Coga S G by mina S )
31+3x15=7

A.150
A.150
A.150

B.160
B.160
B.160

C.180
C.180
C.180

D.140
D.140
D.140

Answer: A.150
A.150
A.150



22 e U 12431 + 62143 =72

Simplify:
12431 + 62143 = ?

oy Clal;
12431 + 62143 =7

A. 75574
A 75574
A 75574

B.74474
B.74474
B.74474

C.74564
C.74564
C.74564

D.74574
D.74574
D.74574

Answer: D.74574
D.74574
D.74574

23 o7 o el Tl (TTEH) 120 S5, Weiielde! HIvldl Jidl Hd] (TIRiuh) 31 dhd ATol?
The LCM of three different numbers is 120. Which of the following cannot be their HCF?

Al e J 1S s e liaa GS(LCM) ¢ 120 i) (oo @l o 058 0 e 22~ 2t - = (HCF) ¢ = (S5

A8
A8
A8

B.12
B.12
B.12

C.24
C.24
C.24



D.35
D.35
D.35

Answer: D.35

D.35
D.35
24 Fill in the blank with the correct article.
He was first man to arrive
A.the
B.a
C.an
D.No article required
Answer: A.the
25 Gleliai D! Yo s DIV 2
AT
BTE
CIl=
DR
Answer: C¥
26 S S ssg A3
WWW stands for :

WWW s s IS



Answer:

2F

Answer:

Ades d% a9
A.World Work Web
AcusS,sd,,

Bdlss d% d9
B.Wide Work Web

B.ouy ST

C.ass deg a9
C.Wide World Web

Cus 1,3,

D.dcs dgs a9
D.World Wide Web

D.cus 3,3,

D.dcs dgs a9
D.World Wide Web

D.cus 3,3,

THm e GEITd SURTER EBUR e 34 3Te:
Value that is found in friendships on a consistent basis is:

= U Bl e s ol e (e 181 3 7 0

AR Sfor AT
A.Sympathy and empathy
Al pns sl 2o

B.UTHIOIG U 31foT fayry

B.Honesty & trust
B_ alaie | JJ! {5_)!.331.‘.}!

C.IRER TqHS! IO HH 0T
C.Mutual understanding and compassion
C. il ) andi 5 aldl ady

D.adld Id
D.All the above
D. 91'-43 Yo ~ e

D.adld Id
D.All the above
D. abad YU ~a j2ia



28 UMD PRA:
127 x6=7

Multiply:
127 x6=7

R e
127 x6=7

A.862
A.862
A.862

B.762
B.762
B.762

C.562
C.562
C.562

D.662
D.662
D.662

Answer: B.762
B.762
B.762

29 GTeiieid! SIS Yeg DIV 2

Answer: DJI%'—ﬂ
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Answer:

31

I aT] JRAIIG AU UG Yald HiS Uhd HRU — =T f[AUTTId 318
The greatest single cause of failure in beginning for teachers lies in the area of—

= a8 ot e Gl a5 s Sl (S lSU e e 550 ) S edilul—

A FAHIYRYT TGt

A.General culture
A2 o gee

B. AR g

B.General scholarship
B.u Sl ple

C favg-axg usfydt

C.Subject-matter back ground
C.obuw pu S ¢ sunsm

D. 3fiR-sAfedTTd daiel
D.Inter-personal relations
D.cialas 13

D. 3fiR-sAfedTTd daiel
D.Inter-personal relations
D.ciales i3

Hb 10T YT i1 qarE VIR 2 : 3 3o, 12 Iui-aR Il 94T IR 11 : 15 Bladl. Y= 9 ol
3 (@fHe)?

The ratio of Mukesh’s and Suresh'’s age is 2 : 3. After 12 years the ratio of their ages become 11 : 15.
What is the age of Suresh (in years)?

LS (e Jl) e (S Gl = Ua 015 11l 1S 5 5ee (S0 2 Jls 126 = 3 1 20l 1S 5 500 (S Gl pu ) 5) UGS
¢
=

A16
A16
A16

B.32
B.32
B.32

C.48
C.48
C.48



D.42
D.42
D.42

Answer: C.48
C.48
C.48

32

faéar: @relt v FergraT gEsT adaer g, fGaedn Seav Ay, g araears
ar war f@e o T F.

DIRECTIONS: A piece of paper is shown below. From the given answer
figures, indicate how it will appear when it is folded?

Syl a8 oS U i J&_;.ii_g:_,_aa.‘u)s;él)i_ﬁ ‘df.'._gl_@._ﬂ;lj\_SQ S KBS , msiigln

NE 25t oS o€ L 3 AaSategs

f
A

1 p
{ Al s
A
Fy

z Al

Agrtab  Ababited +

A) B) (©) (D)

A

A

B.B
C.C
D.D

A A

Answer: A A

33 I Wieitel weined feaien wafaimegA ddfed sier w5 st
HKNQ : GKOS :: SVYB : ?
DIRECTIONS: In the following question, select the related group of letters from the given alternatives.

HKNQ : GKOS :: SVYB : ?

oS atia g K lata 1€ Cag a s e Joliie K 3 cge a3 e e

HKNQ : GKOS :: SVYB : ?



ATQMK
ATQMK
ATQMK

B.NRVZ
B.NRVZ
B.NRVZ

C.ZVTQ
C.ZVTQ
C.ZVTQ

D.ADGJ
D.ADGJ
D.ADGJ

Answer:. B.NRVZ
B.NRVZ
B.NRVZ

34 1. Wieited UyiAe e garameA Heftd sieR/Asa&ae FasT.
Uicre <0 ; ufddferd ool 2

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Encourage : Restrict: :?

?: ;‘._'1_)5 B RES :b_;Suj!_;s'I A.LA_,;

AT T

A.Gain: success
A.elS il S dala

B.31YTa: HTierey
B.Dearth: surplus
B.usa 3 Al i i 8

C.UTgul: fayrg Squr

C.Seeing: believing
C.LS o (S

D.gad ATHT
D.Heart: soul
D.zsy:d2



Answer: B.3{HId: 3HTfeIy
B.Dearth: surplus
B.osm 3 a1 4 8

35 YR, 318 fag Ad o1 faenif @i Ricas it o1for @ doin qufe wifawasd), anla saftn =
SR T &dTd of gEeTal ared i ot gbidl Ul 318, TRl il Bl IGTd IS YT a1 URER W
SAUTRTE] i U Tig ePihI- fAce?

Generally, it is found that the students are littering their food remains and wrappings in class furniture,
parks and school floors which you think a wrong practice. How would you check them so that they have
a right approach to keep clean the school surroundings?

Sz 3 b S Sl 5l Gse 0sSOL o p S OIS S ESy 5yl S g e Wk S W8 LWL g yskple
O = S 60 M iy oo S JSadd S S (n S Sn e gl - o dae Bl Sl e dls S 2 g 0
Ok G iy S

A DD a1 HRUMITER FoR SAUgTIa! 30T i1 IEUATIS] Bgt Hi-eR [denafal te 3sdl e TR
Eaul

A.Organize a flying group of monitors to see and check the wrong doers
Ao Selie s RS S 38K 5 8 Sl S SRl

B.d CT3UYTIa1 Ul Juared] HGMIER GRS YUl 600

B.Announcements on assembly ground every day to avoid it
B ol ue.ej.l_',i_ﬁé.\m‘ n.ll_)_’_;:"lé:'leu:uuﬂ

C.FHR, IR IO GRIRIAA ScR 310l Herl-Uedid! HawIT B0
C.Arrangement of dust-bins in front of class-rooms, parks and other places in the campus
C.allail S gl £ 558 el S (58 Koo (e puas€ sl 0580k 50 038

D. 3721 faemafardt snfde fRren 3o,

D.Make a provision of financial punishment for these students.
D0 S FHso)S (S e Gl I <UL g

Answer: C . FTHAR, SR 101 GRERICA SaR (ST derl-Ucdie saael HI00

C.Arrangement of dust-bins in front of class-rooms, parks and other places in the campus
C.plail 1S ols £ 58 el S a8 83 e puas€ 5l 0550l cas) S

36

V400 + /900 + 11600 = Fpd 3T

The value of V400 + +/900 + /1600 is:

.5 S |400+ (900 + [1600
; N N N

A 22



Answer:

37

Answer:

38

B. 90

C.20

D. 28

B. 90

S YT g §ddl 3Ted
Clouds are basically made up of

S 2 2sh el da

AT dd
A.Droplets of water
Austs S Sl

B.Y
B.Dust

B.dsa2

(OR'CAN
C.Light
C.ds)
D.TiexT {1
D.White color
D. & i

AT 49

A.Droplets of water
Ausis S Sl

Sif® v §EHTd HiSHY— gR gdrd
Intelligence tests measure intelligence by—

o O S (e (S Cild Gl S il

A TGS Sl BTal FRISa 38 A1 gafdl a1t g4

A.Inventorying everything, one has learned
AL Gy (S s O 6 2 g8 gaS 5



Answer:

39

Answer:

B.UEM Sydced Fafd H310 Rigmme e &
B.Observing the most difficult learnings, one has encountered
Bﬂﬁ‘uﬂsu:'_)y]d&-&ﬂ:‘ﬂ‘aijc‘iq:\ﬂ:‘)ﬁ

C.Rrpvar 97 €947, 9 R var} Siqeside ydeyiue el AT e

C.Sampling learnings, which almost everyone has had an opportunity to learn
C.les Yo glign Sl S (a5 Lo 8 S 38 san ol 3 5al JUiss

D. CETT=A] AR WRE-d SodA M 310 Jarjdre Rl &l

D.Observing the mass and complexity of one’s neural structure
D.ealis S L;A:‘?ﬁ S A_:..‘i‘.h-i stuac| é S

D. TTIT=AT Ao I¥d-1d GoaAM 31for drjdie e &0

D.Observing the mass and complexity of one’s neural structure
D.ealis S L;A:‘?ﬁ S A_:..‘i‘.h-i stuac| é S

I 1: fediedn waigingd aves d SeR Hlel.
DIRECTIONS: Find the odd one out from the given alternatives.

'J)Suzxjsjﬁc‘c"u:“d“‘“ﬁ‘csg‘-‘;‘“

AA
AA
AA

B.R
B.R
B.R

s
GE
GE

D.l
D.l
D.l

B.R
B.R
B.R



40

Answer:

41

1 310 3rory i+l TR fEPI0T A URgH Fedrd dail 311701 d B I1 fd1uil lg=dd, d 60 fbei gR 3i1e. ¥di=n
Tl Srorgn e 4 fHHI/AR A ST 318, B 41 f31oft Uigg 3/, URd Adl 3M1or Idiern B Ry 12 fabdt
R g fe@1oft Hed). ¥di wdi (Sdiarg ae) sar.

Ravi and Ajay start simultaneously from the same place A and reach at place B, 60 km apart. Ravi's
speed is 4 km/hr less than that of Ajay. Ajay, after reaching place B, returns and meets Ravi at a place
12 km away from B. Find the speed (in km/hr) of Ravi.

B o S 22 Sl sy A S s S JKB0 L LS gt S w B Sl (S ol (S g - ai SS
S o)z ) S 8 KA B S gl o 5e Gl s S iain B e w0 S D5 A K12
S pslea (U A28 [ R i) Sl (K6,

A12
A12
A12

B.10
B.10
B.10

C.38
C38
Cs8

D.6
D.6
D.6

C38
C38
Cs8

A= are fead Uy auf Aferear STl 3igd. a1 TdS Hifddd, dlal &R T8I 3igd. a7 uag
FasT ura Uen 3ifi® 31eR T8I e, Hlfdddid Jded Urd 3feR fHasT .

DIRECTION: Questions given below are based on the letter series. In each of these series, some letters
are missing. Select the correct alternative. If more than five letters are missing, select the last five letters
of the series:



Answer:

42

A.dabce
A.dabce
A.dabce

B.eabcd
B.eabcd
B.eabcd

C.edcba
C.edcba
C.edcba

D.cdeab
D.cdeab
D.cdeab

D.cdeab
D.cdeab
D.cdeab

SR gH1 YedbI=uTdl ¥ fosue Urgivard S Siie S gie! ATell gH<Al TRIbg qHdl JUHRUl oY,
PSR 3107 feeg] Je arues Suarard! @ gHd H- 9addl, giol A1 dreiRard] [Rudiqd &=i gea! s
HTA?

If your colleague takes interest in blue films and convinces you to lend him your appliances like, VCR
and TV set along with your house, how could you escape from this awkward situation?

Jladl S g5 S sl Vo s e YT i e gl S 58l Sl sl LSy auaals gz sall sl ei S G R
fup Sam S daijse e ol Gl S B SdE S

A IR Iell Yedid Dl giol 1 dlddid dTHl Hed B Udbd Aol

A.You will convince him that you can’t extend your help in this matter
A S S Gad e S Gl O ae  Ldbea gl S8 G5 S 8 il

B.JTd I 31 Ye chadl dsd HRU gHADS dldl 3¢ AHR U] Gy & A6l

B.You will like to postpone his wish as you do not have enough courage to refuse him directly
B. = us Ahasa el I S 558 pie ol ol gy ad K58 8 (aila S (ke S A (S Gl

C J! SPIGR Heiifawd! sifazra +fidh aresrdr, @nges dic FRT! IawRIT HRuANd rHY Srdl IS
IR AT AHR &al

C.You are very afraid of illegal acts, therefore unable to manage cassettes etc. in turn you refuse him
C.up S S gie ul G ol G s S (g AU S 0 ey Gl Il e 558 oy ia g 9alS (g e

D.qTa 41 qaTdiel AT ATt HIGAT SO Siiforaifawdt arge arcd
D.You will feel sorry on his vicious feelings and emotions in this age.
D.- 8 GiS pusul jp i sl Slsbisal and S Gl (e pee ul




Answer: A %! ATdl Uedrd Bl giel a1 d1edid I #ed & Ydhd el

A.You will convince him that you can’t extend your help in this matter
A S5 S Gt e (S ool o gpa lelas ol S K Sl

43 e guf 3quies 31O AT epamaeia 49 B 85/66 3MTg. dl YIS BT 3R

The positive difference between a positive proper fraction and its reciprocal is 85/66. The fraction is:

= S - 85/66 = B8 e Jhe S Sy S el ) S G e Cudle:

A.3/10
A.3/10
A.3/10

B.6/11
B.6/11
B.6/11

C.4/13
C.4/13
C.4/13

D.5/9
D.5/9
D.5/9

Answer: B.6/11

B.6/11
B.6/11
44 TR 1 Vel fasgrdf 2rsg Hivrar 2
A ARG
B.Fdg
C. 3T gTun
D gfeHH

Answer: B.ﬁ@c@'



45 A& Wrelid Wsaih Ul Asad IMTAR HiSUT 1.
(1) Host
(2) Haphazard
(3) Haste
(4) Hang
(5) Handkerchief

DIRECTIONS: Arrange the following words according to the English Dictionary.
(1) Host

(2) Haphazard

(3) Haste

(4) Hang

(5) Handkerchief

S e oS B ) aa paie (Billae S il (63 S5l il
(1) Host

(2) Haphazard

(3) Haste

(4) Hang

(5) Handkerchief

A5,4,2 3,1
A5,4,2 3,1
A5,4,2 3,1

B5,4,2,1,3
B5,4,2,1,3
B5,42,1,3

D3,2,1,5 4
D3,2,1,5 4
D3,2,1,5 4

Answer: A5,4,2 3,1
Ab5,4, 2 3,1
A5,4,2 31
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Answer:

U o HRTAT SIbTaR §9d 31101 thed] [P UTg Wehd ATg1, WS, dl dRAR IHT LTd!, UIgTdl SH1for
A1, IS Saa] dIHTaR SHI 3aR FEH A9 gidl. 31 fagmale sreaufikidy™ gl Siud

3 FIETA?

A child is a back-bencher and is unable to watch the black-board clearly, therefore, he stands, sees and
sits repeatedly. It disturbs the nearby class-mates, what inference will you draw with reference to the
student’s difficulty?

o8 e Ui 1568 S Slog el o o uall g8 5 sk gualy S35 Sl Hd o Wy i Jleay o S
A Bl S e e Sglshe (Sale b o S Gl S Oale S 0SS Gl gl s el - o U

(S

ATl e¥l HHGR 3T
A.The child has poor eye-sight
A = A SRS A

B.HTH] SloAiHed QY 31 el
B.The child may has defective eyes
B.o s 5 il ¢85 (S an

C . ToATaR YHTRITEl TGl IR0 fEad 3y bl
C.The black-board may has shining effect of light
C.= B 5 3 S San (S iy ) 35S

D.4d WIS Hd 31
D.The child is creating mischief.
D=l Seuls e

A YA T8 AR 3R

A.The child has poor eye-sight
A loa B S e
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Answer:

I Wi Hlfgd] dleseigdd qrdl o7 Wreiia uyid 3R @

I.A, B, C,D,E,F, G 3fUl H HZMHR §9d Ul dgesld saeid 316 B siiea.
II. F 81 D =01 debled Iuiod STo[dl 3Tg R, B 81 E <1 dch s STl SIo[al 318,
III. A g1 C =41 fdbal H =01 GHR SHcIal ATgl 101 A 81 H 1 USR] 40T T8l

V. E 3MIfOT H, C 21 JTofal S9ad 3Mled.

G di Ryt d1g 3Me?

DIRECTIONS: Study the following information carefully and answer the questions given below.
I.A, B, C,D, E, F, G andH are eight friends sitting in a circle facing the centre.

Il. F is on the immediate right of D while B is on the immediate left of E.

[ll. A'is sitting opposite to neither C nor H. And A is not the neighbour of H.

IV. E and H are sitting adjacent to C.

What is the position of G?

on s Sl B o s 5 05y o Ol 5S Clagles U aa i iy
|52 63 . Ge Fe Ee Do Ce Be A sl H -0 i s oS 70 b (S S e e 2 il S
LF 5 sk 08D Ses oisb pils (SB p sk oS E - = cipb ol S

A $:5C e nd SH s - o W callae  SA«H g sl S

IV-E ss' H usis C -0 6t gpe dio S

Gi S si)sn S

AF =1 SdIdS AT
A Fourth to the left of F
A Flgse ot S

B.B =1 SAIds ATl
B.Third to the left of B
B.B Iwd i S

C.B =1 Iuidiss faaRT
C.Third to the right of B
CBljus gl S

D.D =T STdidbs g’
D.Second to the left of D
DDl jug —wgydh S

D.D AT S[MIbs G RIH
D.Second to the left of D

D.D | us s gl S

“TENDENTIOUS' U Wldiiel egitih] HIUA Wed TIR Pl 6l Uabd Algla?
Which of the following words cannot be formed from ‘TENDENTIOUS’?

L o€ s e BN 0 may3ie "TENDENTIOUS' € Uals Ui aes s



A.INTENTION
A.INTENTION
A.INTENTION

B.DENTIST
B.DENTIST
B.DENTIST

C.TENT
C.TENT
C.TENT

D.STUDENT
D.STUDENT
D.STUDENT

Answer: A.INTENTION
AINTENTION
A.INTENTION

49 Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.

A_Anouncment
B.Achievement
C.Advertisement

D.Appearance

Answer:  A.Anouncment

50 SR AR de ged, drere g wed, fUgera Jerdl wed, Tarial el ged, Rerd Tsa
WY Fged SN TSE SiHeATel Sies] T, dR dhodIdl T DIVl 3d?

If orange is called red, red is called yellow, yellow is called pink, pink is called blue, blue is called violet
and violet is called purple. What will be the colour of a banana?

Wy L K, 08 IS8 SalS s o€ ity ol il o€ D g € (o0& o 8 €055 023 oS Fom g S Sl K
A fogat

A.Yellow
A.yj



B.Pink
B..>8

C.drd
C.Red
Cz

D=1
D.Blue
Da

Answer: B.I[eTsl

B.Pink
B..>%

51 GTe e AEd T, 91 s < 50°< t, a%
In the figure below, if s < 50°< t, then:

195 8 < 50°< t 81, yueided
A

m.

Dy LU a A\

A.t1<80
B.s+1t<130
C.50<t<80

D.t>80

Answer: D.t>80

52 S oS 81 4 91 TRATd ARG 318
Jean Piaget a well-known psychologist of in origin

L e S Blat 1€ Sl (pa Sl e iy yee

ASd
A Dutch
Azl



B.Rag
B.Swiss
B s

c R
C.Russian
C.es0

D fadiw
D.British
D.s sk

Answer: B.fay
B.Swiss
B s

o3 32 AT SATS ST THN THAAAT FE AT qgerwAn = groaransy Gt af amrdfier?

In what time the simple interest on a sum of money be Eof the principal with
rate of interest 3&?

(R oo cay =5 s =5 3 S 35 d9w0 200 25w 0 508, o S S ol

A.9years
A 9T¥
A 9 Jw

B. 6 years
.68

.6

w W

.12 years
12 98
12 ds

. 15 years
15 9%
15 Jl

OO0 000

Answer: .12 years

12Ty
.12

o000



54 Hefh TIRUAIHE, Hef THY GYRUN HE dOR ol Sl
In a pitcher plant, the pitcher is made by modification of

= L e e 5 (S 52 e Gl

AdHE
Aleaf
A~

B.Mdl
B.branches
B. L

C3d

C.stem
Cl

D.%d

D flower
D. ds&

Answer: AT
Aleaf
A &



o5

a1 srduuf uRse Fafor sxvarrdl, @ fiaed (P), (Q) (R), (S) 101 (T) & Ui a1 drgsigHam
g-RE] H; IR Qreiad gy SR @1,

P. BTaedT TUATdl Xdld Hail.

Q. DIl Ao T e,

R. DIcgl BIdeT=dl M- Fdl Befl.

S. disTd diodl b sl U3 Udh D] TSR SHd DlcglH Uliga.

T. T HIaaT T ATal.
IR SR Wldiadd! HIvd dred grdd 3d?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crow began to sing.

Q. The crow dropped the cheese.

R. The fox praised the crow’s singing.

S. A fox saw a crow sitting on a tree with a piece of cheese in his mouth.

T. The crow was pleased by the flattery.

Which of the following should be the FIFTH sentence after rearrangement?

usles @b O il (P)« (Q)¢ (R)e (S) sl (T) usllse B 23 28 e Jamsiiojligs A S iy Jealh S
e S

P a W8 S S

Q.21 8 s S S

R. (Scipyd S 8 S, S S3asl

S. il ada d p e nie 18 1680 3 g3 d S
T. s Glsd S Gu el | S,

?5?1?UH|E\1A@MQ§JHEC"QJ%_)S°JQF

A.Q
A.Q
A.Q

B.S
B.S
B.S

CR
CR
CR

D.T
D.T
D.T



Answer:

56

A.Q
A.Q
A.Q

a1 : Wielid Y UYId i faem | 3for 11 f&die 3med. 8 faur Uehdr Tada SRUN 3y I fdbal T
PRUTY URUMH 3 AHdId. Jidd] TP AU IR Aeran IR 3 Abdl. el (e ardm ffor
Greliade! Il IR Ay a1 <1 fauHinedid dduia guH Sdl d ol

ICEIGE

|. GAUTIT GSBTSURT HRTIET SHTeTd] el S0l [dH=Ai-1 Hed DU TRHRBGA AR HIVIR
3Ny e,

|I. GSBTBUK HITITe HIGUT YHIVIT Qb G- T Dld 3HTed ST ieal SEiagiH1 Uil Ti-l 3
3Tg.

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:

|. The Prime Minister has visited the draught affected areas and promised government assistance to
help the farmers.

Il. A large number of farmers in the draught affected areas have been suffering and are unable to feed
their Families.

Sl 52 e s o e SN Ul T S0 Sl v 8 gl o S s S S Clsas ol e b s 35
T

Jlail 8ol g€ K o 258 S ad gl % iy ggigs B 50 1S £ juas0 Glas SO (e Uil
= B8 B e S S (et (e 2 S iy sign

<l
S (s e (S el (Fa S S U P 5l S o0 1S ible o e whad Sabel s
Iloss JlE S 5,8 M€ € il i oy y5h v JISCE 1S CME ant (630 S S s [a g 80e o i s Jani

Af3U | BRUT 3118 3M1fOr fay™ 11 @ alkomd SR,
A.Statement | is the cause and statement |l is its effect.
A nadel s gl sl 2 rasll - A8 S Gl

B.fa4m 1| RO 3118 311 faer | ren uRkumd 8.
B.Statement Il is the cause and statement | is its effect.
B. sadell gz oy mras |- 2 Al S Gl

C.faum | 3nfor 1| ST Taad HRUI 3T
C.Both the statements | and Il are independent causes.
C. <l usig | sl -ug gy 3



Answer:

57

Answer:

58

D.fa4r 1 31101 11 Q6T P1E! HRI RN URUMH 3MTgd.

D.Both the statements | and Il are effects of some common cause.
D. <z psise | g Il -op QA S as S (8

D.fagr 1 31101 11 Q6T B1E! AR RO TR 3MTgd.

D.Both the statements | and Il are effects of some common cause.
D. <z psise | g Il -op QA S as S (8

AT
B.HGY
C.arufi

DUl

C.arufi

I WTciiel Hifgd] dleseigddD aral o7 Ereiia uHidl 3R &

I.A, B, C,D, E,F, G 30 HHZIHR §9d U] dgosld s¥eid 3116 B Sfied.
II. F 81 D =1 dchlcd Iuicdl dlojell 311g ¥, B 8 E 1 dabled Sl Sojell 3Te.
III. A 1 C =01 fdhal H =01 FHR S¥cial ATg! 101 A 81 H 91 A9 9 T8l

IV. E 3TfOr H, C =41 S1S[dl §¥ad 3HTgd.

SR A 3101 E SR 3f&alacel Bdld a8, F 310 H &1 HId

DIRECTIONS: Study the following information carefully and answer the questions given below.
I.A, B, C,D,E, F, G and H are eight friends sitting in a circle facing the centre.

IIl. F is on the immediate right of D while B is on the immediate left of E.

[ll. A'is sitting opposite to neither C nor H. And A is not the neighbour of H.

IV. E and H are sitting adjacent to C.

If A and E interchange places and same for F and H, then

on s Sl R o s 5 o5y e gl S Clagles J aa i iy
|52 63 . Ge Fe Ee Do Ce Be A sl H i e s =S 20 b (S S5 e 2 i S
-F 52 ssb o8 D ASeas i il SB sk s E- o cisb ot S

H-A $5:5C 2 nd SH sl -z W callae SA H g sl S

IV-E _s' H usin C -0n el gse diy S

RIA L3 E gob o ol o duosbs 4 F s How 55 e

A.3rgdId @R, G 30 C § F =41 STofell 3Migd
A.G and C are adjacentto F

A.G LJC ¢« F 0z ux das S



Answer:

59

Answer:

60

B.3¥dld aR, D 310 B § A =1 SISl 3ed

B.D and B are adjacent to A
B.D s Be A U upe Jie S

C.E 81 A 1 IR S9aidll ATg!

C.E is not sitting opposite A
CE«A o\dupilas <

D.H 81 F =1 GHR §¥eiell el
D.H is not sitting opposite F

D.H ¢ F = e oy cillas <

A.3RdTd @R, G 301 C B F =41 19l 3Mlgd

A.G and C are adjacentto F
AG J4C ¢ F ug gy S

V676 =?
A.35
B. 26
C. 40
D. 42
B. 26
SR QREDR Bl DIV &ATT el STl —

The Oscar Prize is given in the field of —

= Bl 2 e Ol S

ARFH
A Films

A al
B.UFAHINAl

B.Journalism
B.ajlisa

plast S



Answer:

61

Answer:

62

c.aEH
C.Writing
C. Kl

D& BIvde! el

D.None of these
D.ost SsS e ue

ARFH
A Films

Ak

T §id U9 dwiaR S HRd—
A ball-pen acts on the principle of—

SUSAS mdsal S omde

A gSSIadid dH

A_.Surface tension
A, 3 palas) GEE Gud )

B. =@yl

B.Gravitation
B. «ili) gid g K)

C.add 3l
C.Both of the above

C.usip mumd

DTS Udhg! ATl

D.None of these
D. i &S

c.add ail
C.Both of the above

C.uss syl

WIS ol S YibTerad ST A S¥ed’ I AT 3Hd Udeiel 3Rl
A child regarding the world as a dangerous place has experienced.



Answer:

A STAYUl 3TETd
A.childhood trauma

B. 9l fgRER

B.domestic violence

B.aai 5l €

OXAHIBN
C.Bullying

C.u;-"_)g o
D.aIau®! 94

D.all of above
Do Yz 2

D.adUd! gd
D.all of above
D. e Yoz o
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Answer:

I U U U U fAeHRied IR faye sigd Sai=ardrdl a, b, c, 3110 d 3198 R {9 3gd.
HHAR fAyFidl SIS as same) yyd faur ga=a1 faumTen gaad, $ifir qigl faum afbeesed ug@
faurred Afed s/,

STHTY 3T HIS [l g 318,
A.d B 3T8.
B. d ®lcs gl
C.d T 3AR.
D. d &es ATgl.

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

It is either dark or cloudy
A ltis dark

B. It is not dark

C. ltis cloudy

D. It is not cloudy

i S Ui Shuie gpanl g B S uall S (8 5l oo ) ea Jla o Sasa e SO pe dlgn iyl
o Githe S U S e Ahie e 52 o) o) S el 5l (Salea o pup s D s

wrddl sl Gl
A o

B o 1l 4
Courdo -
Dos s db -

AAC
AAC
AAC

B.DA
B.DA
B.DA

c.CB
cCB
c.CB

D.AB
D.AB
D.AB

B.DA
B.DA
B.DA



64 Out of the given options, choose the one which is the correct indirect speech of the sentence given
below.
Sameer said. “| am very busy now.”

A.Sameer said that he was very busy then.
B.Sameer said that he was very busy now.
C.Sameer said that he were being very busy then.

D.Sameer says that he is very busy now.

Answer: A.Sameer said that he was very busy then.

65 HRdId e feHTerar 3= ReR iurd?
Name the highest peak of the Himalayas in India

ez 028 il (Sl (e g s

A2
AK2
A. K2

B HNC. Ui
B.Mt. Everest

B_ im_';j:'l ~I:I:\_"".n

C.HI3C. BTG
C.Mt. Kanchenjunga
C_ ]g .' .‘ S lil.l_',l.n

DARSC. daffilk
D.Mt. Dhaulagiri
D.cs =Y s Suisile

Answer: A2
AK2
A. K2



N 131)% +(238-131)* :

238x238+-131x131
| (238+131)7 +(238-131)°
Solve — ol fanial
J(238+ 1317 +(238-1317
* T 238x238+ 131x131 oS Lo
A 4
B.2
C.8
D.9
Answer: B.2

Adda




67

a1 srduuf uRse Fafor sxvarrdl, @ fiaed (P), (Q) (R), (S) 101 (T) & Ui a1 drgsigHam
g-RE] H; IR Qreiad gy SR @1,

P. BTaedT TUATdl Xdld Hail.

Q. DIl Ao T e,

R. DIcgl BIdeT=dl M- Fdl Befl.

S. disTd diodl b sl U3 Udh D] TSR SHd DlcglH Uliga.
T. T HIaaT T ATal.

IR SR Dldiadd! HIod i gfge S¥a?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crow began to sing.

Q. The crow dropped the cheese.

R. The fox praised the crow’s singing.

S. A fox saw a crow sitting on a tree with a piece of cheese in his mouth.

T. The crow was pleased by the flattery.

Which of the following should be the FIRST sentence after rearrangement?

usles @b O il (P)« (Q)¢ (R)e (S) sl (T) usllse B 23 28 e Jamsiiojligs A S iy Jealh S
e S

P a W8 S S

Q.21 8 s S S

R. (Scipyd S 8 S, S S3asl

S. il ada d p e nie 18 1680 3 g3 d S
T. s Glsd S Gu el | S,

e Un Hoda e oS o S ey

AS
AS
AS

B.P
B.P
B.P

CR
CR
CR

D.Q
D.Q
D.Q



Answer: A.S
AS
AS

68 TR IS § HRAT HSil gld.

Raghuram Rajan was the former of India.

- Gilas S gy gl a5 568 )

A TLHEAT

A_Prime Minister
Apbel s

B.FUdl
B.President
B.oxa

C st

C.CAG
Ca ol (o

RICIEANGREIR)

D.None of these
D.ox A58 s g O

Answer: D TP ElﬂUI?I'E»FT H’Iﬁ

D.None of these
D.oxs P58 s g O

69 THUI iqia ufafdaiardl, U= fBRumer arga Sl axad ie—
For total internal reflection, ray of light has to pass through —

= B3R Sgled (S G A S ulSe g pal dSa

ASE d gufl

A.Glass to water
A Sl = C:‘:“:
B.Uil d Hra

B.Water to glass



Answer:

70

C.gd1 d uruft
C.Air to water
Cute Gy s

D.gd1 d &1d
D.Air to Glass
D.se mih el s

ASE d gufl

A.Glass to water

I : Wicitd fededn uyme Sie faur 3fir sigt ey siigd. AH-ITA: J1d GAT0&T d A7 $r¥did o)
fearel faeum greren S aFd arTdia sifor aFR e f[gmr s fRdeads! S fsey
difddesedl HRdl d 3.

faem -

S=A<P>Rs<T<U

sy ;

L U>A

I.S<T

DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly known
facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statement:
S=A<P>R=sT<U
Conclusions:

. U>A

1.S<T

Jiie gt S @lia Aa dla y shale Sl 81 o se il gaS oy S clily ea€ (e g 55 a2k 1l
32 o5k Allibie o Lui S LS Ls 2o i3 &S S a8 iy ol ez Sl eSO g gl clily B ol 0 5 S g
S e S iy K

| P}

S=A<P>R=sT<U
u>A.l
S=<T.

A B | ey B 38
A.Only conclusion | is true
Al pal o



Answer:

71

Answer:

72

B. W Il sy @RI o8
B.Only conclusion Il is true
B i pa |l o S o

C.| fdran 1| at®l Te sy TR 8

C.Either conclusion | or Il is true
CLIGI o cwn s

D.19 Il g Srolgl HpY BN ATeld
D.Neither Conclusion | nor Il is true
[DRPEPRY PPEPRY | I PN

D19 11 g glel sy W Arsld
D.Neither Conclusion | nor Il is true
[DRPEPRY PPEPRY | I PN

i ga g o FHd RS 318 -
The Sanchi Stupa is a monument dedicated to —

=0 e Sl e S0 (S Ll il

Afeg
A.Hinduism
A

B.dit o
B.Buddhism

B.lwax

c.oF gd
C.Jainism
C.Coe Oz

D.TiU®! HIvde! ATl

D.None of these
D.uw 2sS —wum

B.dieg ¢
B.Buddhism

B.lwax

Hr T Yearal AT Weg Hivrar 2

A.3H



Answer:

73

Answer:

74

Answer:

B.3HITA
cfed
D.3ifgd

cfed

fR1&101 AURIRAT g YHIGY 318
Education psychology includes

= s el e Sluadd caglat

AMER®

A.emotional
JAWPIELEN

B.gHINI®
B.social
B. .2l

C. A HSD
C.cognitive
C..SA

D.aiIdUP! 9d
D.all of above
D. g2Vl 7z 52

D.aiaust 9d
D.all of above
D.seVoz 2

ASITR
B.Udd

C. 3%
D.féfas

D.féfas



75

Answer:

76

e smgpdpredie Sedla SIRd ST TEar 1 3
The maximum number of squares in the given figure is:

v | = | = { L . "
— M 230 v 230 é 2 4) Sl | e S..." ol
-_— - — - - - - v = = e

D.9
A.10
B.13

C.14

C.14

glael ¥ Y 31
Howrah Station is in —

= U= il 135l

A DIABI
A Kolkata
A S S

BT
B.Gandhinagar
B. % axK

C.3igHH
C.Andaman
C.oll

D.HIUTS
D.Bhopal
D.dlse



Answer:

77

A DIABI
A_Kolkata
Al <

a1 srdfguf uRse Fafor sxvamrdl, @ fiaed (P), (Q) (R), (S) 31101 (T) & Ui a1 TrgsigHham
gRE] B; IR ATeied gy SR @1,

P. BTaedT TUATdl Xdld Hail.

Q. PIdM[ I 2P e

R. DIcgl BIdeAT=dl MR Fdl SHefl.

S. digtd Jioral gH sl 98- U ] FTSTaR U DieglF Ulfgd.
T. T PIaaT TG ATal.

IR SR Wdiadd! HIvfd Irad GaX Saa?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crow began to sing.

Q. The crow dropped the cheese.

R. The fox praised the crow’s singing.

S. A fox saw a crow sitting on a tree with a piece of cheese in his mouth.

T. The crow was pleased by the flattery.

Which of the following should be the SECOND sentence after rearrangement?

usles gl o il (P)« (Q)« (R)e (S) wsl (T) usllsss B o2 28 gy taps o jlags A S 3l |y ey S
e S

P. LS 5d ]'-"lg:"/__ss.

Q. 218 i S S

R. oS ciymi (S 8 S, S S5layl

S. Wbildn pl 3 5 e e | S LS 5 5500 S
T s Ghsd S ouciyail S

?C-':""} Ligs | pus s alea L S 22 é e A o bse

AR
AR
AR

B.Q
B.Q
B.Q

C.S
C.S
C.S



D.T

DT
D.T
Answer: AR
AR
AR
78 T AIIHATA] [EHT0MH SIS U1 ATg~5el Furdrd.

Lines joining places of equal
temperature are called

= e s S0y Ny S5 Susda oS Cla e sl

A gHardt
A.lsotherms
A p e gud

B.gHYRT

B.lsomers

B.x e sl

C.uHgd

C.lsohyets
C. il g

D.HHHR
D.Isobars
D. )b gl

Answer: A FHATU
A.lsotherms
Ap et sudl

79 DI 919 4 : 5 : 7 TUIRRMDA 3MTgd. SR ATl TR 48 39 38, IR GH Hayl I b H™
3 e?

The sides of a triangle are in the ratio 4 : 5 : 7. If its perimeter is 48 inch, then what is the difference
between its two bigger sides?

€ = (308 WS Olayn S sk 3003l 50 (Sadl 5 ¢ il 48 abalal Il 81 . (e caslii €7 15 14 (sl (S e S



A123d
A.12 inch
A12z)

B.63d
B.6 inch
B.6z!

C43d
C.4inch
C. 4z

D234
D.2 inch
D.2z

Answer: B.63d
B.6 inch
B.6z

80 fafae w@HTgaRegi=n T 9§ RER-fhaH gite! Te diladl Yde A AR AfedAwd Usd.

The combination and interaction of various traits forms a personality that is unique to each individual
except one.

.~_§_‘ﬂC‘\i_,md‘j_,eJﬁaw.ﬁjxks\éﬁwéwﬁj&hj)jﬁnwﬁﬁbﬂnﬁ_ﬁﬂg

AT

A_cardinal

A.psbe
B4

B.central
B.s S

cgam™

C.secondary
C.ssl

D.faam
D tertiary
D.1S 22 o s

Answer: D.fa@H
D tertiary
D.\S ra1 4 jued
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Answer:

82

Answer:

83

it BTG iydig i At g

Which among these is a dimensional teaching aid

= % galadl (S i3 ailad 48w e )

A DB TS
A.black board
Al n s

B.UeRH Ba®

B.display board
B35 cl:“’:“

c.l=a (2fie)
C.pictures (shit)
C.ul) jshai)

DA

D.model
D.J%

DA

D.model
D.J3

Out of the given options, choose the one which is the correct passive voice of the sentence given below.
Who did this work?

A.Who have done this work?
B.This work has been done by who?
C.By whom was this work done?

D.This work have been done by whom?

C.By whom was this work done?

98 x98-76x76="7
98 x98-76x76="7

98 x98 -76 x 76 =?



A.3164
A.3164
A.3164

B.3828
B.3828
B.3828

C.3900
C.3900
C.3900

D.4000
D.4000
D.4000

Answer: B.3828
B.3828
B.3828

84 110 Tl T 1.10 = =M TUNTR A
Find the ratio of 110 cm to 1.10 m?

190 03 S o slon coif S e 1,10 Ailie S fioe i

A1:10
A1:10
A1:10

BElail
Bi1 1
Bil 11

C.1:1
C.1:1
G:1:1

D.10:1
D.10:1
D.10:1

Answer: Gy |
C.1:1
C1:1
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Answer:

86

3R UiFHSS 25 b Hi =1erd e, Srdibs gesan 30N 15 fob. A, Treid el di §=g1 Sdids gesal 3for 35
o M. araen. AR @ Iodies doal I Yide. SiTdl A dis o G sig?

Amar walked 25km towards west, took a left turn and walked 15km. He again took a left turn and
walked 35km. He then took a right turn and stopped. Now he was facing in which direction?

Je2os-da STl 35 5l 15e s (il Hegog ol O S 15 [y 15e caila (il e o e JK 25 aila (S jre
flei Ly dy e o S 0 o L8 S gl 130 il (e

ATfEH
A West
A ra

B.qd

B.East
B.G3de

C &féor
C.South
C.usa

D.3™
D.North
D.dwi

C aféror
C.South
C.usa

1a8= ...

1year=_..........

1Tdw=_ ...

A.367 feag
A.367 Days
A.36702

B.365 feaq
B.365 Days
B.365.

C.364 feag
C.364 days
C.3640:



D . WIAda! HIordg! ATel
D.None of These

Answer: B.365 faay
B.365 Days
B.36502
87 R1ar Uh HUINT Hd B 3ficg Tbdl?

How can a teacher detect a malnutritioned child?

¢ o Ui S ol IS sy iy aS S Cuflie € Sl oSy

Aol UTdest SHT 3

A.low energy level
Ao Gt lase (S 23

B.Y[& @dagad &l

B.dry scaly skin
B.ala uli (Sia

C 2 HIvdg et

C.none of the two
Cod &8 e uss?

D.(a) d (b)
D.(a) and (b)
D.(a) us/(b)
Answer: D.(a) d (b)
D.(a) and (b)
D.(a) us/(b)
88 (N4)12=2
(N4)12=2
? = (V4)12
A2
A2

A2



Answer:

89

Answer:

B.5
B.5
B.5

C.N2
CN2
C.V2

D4
D4
D4

C.N2
CN2
C.V2

AfddHd TEAR DHIVA] GH Widd Yehidl YHIT 3Fdl?

Which two biological factors have influence on personality structure?

Sz S8 Il IS cal (S cnaddi el e s 50 w05

A SIS
A.genetic
AT

B.aRWI
B.hereditary
B.sose

C.(a)d (b)
C.(a) and (b)
C.(a) usl(b) usse

D.®IUde! gt

D.none
D. e 35S

C.(a)d (b)
C.(a) and (b)
C.(a) us(b) usise
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Answer:

91

SR Rl AL AUl HRA Ad1, Hegl AT JBATAUS Jreldl Ml Blgl UIgudi-l uuarg
FiTdTd, R gl gl Hig 1 wra?

If you are coming to school regularly by car, when the school-principal has asked you to attend to some
school-guest, how would you take your decision?

208 Jlr 455 (S Clare S Sl (u€ s o png5d S iy S Sl e T J Sl e S (Baelily s S )
L JRTE.SVY. QN POV LT P ISR X P [ <

AJR] 8 DR T HRUN FaRT YdT HIUTMTS] off Teh et AT

A.You refuse straight-forward as it is not a taxi to entertain others
A2 o oSE S S S i S s m S g e S ISl el

B.q%! Wa:al =1 fYclid urgral &1 grel d AThIRE gl dd Alg! fdbdl dl UkdTd WibRIF & greTel
3f1aSd gl

B.You neither find yourself in a position to refuse nor do you like to accept the offer.

Bu e LS s O o (o T e 05 S S S S S asa Gl

C.dw IiF1 i SqaRI1 HRugd] Hel e
C.You suggest him to arrange a taxi
C.ut i oy 1S S AUl 1€ LSS Sl (agd) I

D gwe! Raerg it <=faret Snifor wres=a1 uigudi=l Hed aid
D.You be a good sport and help the school-guest

D. 8 S 230 (S Glan S JsSadl 55l S S 58 Sy o

D gwe! Raerrg it <=farer Snifdr =1 urgudi= Hed axid
D.You be a good sport and help the school-guest

D. 8 Ui 234 S Glage S dsSl 3l S S U ity o

gl YHTedI gl gl
Probability of any event is always

iz (A S 5 4 S

ATR BT 3 U0 U Ude! fohar amden &t 3ra

A.non negative but less than or equal to one
A n SSHLaS e SOl (S ¢ iie

B.dRfdd® TWBAT 1 U& A8 31d

B.a real number less than 1
B. 2x dda Sl oS S

C.-1 3101 1 SR 3 8d
C.lies between -1 and 1
C.1 ol 51 L4



Answer:

92

Answer:

93

D.0 d 1 WM 39d
D.lies between 0 to 1

D.0 e S 1
D.0 d 1 WM 39d

D.lies between 0 to 1
D.Oose S 1

Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.

A.Accommodation
B.Sepearate
C.Seigge

D.Succesfull

A.Accommodation

SR A1 resHe RN U A1 FH™1 318 WS Ylovd dB1yze fqug Sid. grerel 3=t sidd
Tt TSds el R Ia3vae! S STl Aded?

If there is a great problem of discipline in your school which disrupts the routine of the school. What
would you like to do to deal with such an utter chaos?

= oalainy (S b gl L SIS Gra dsane S sSusl s pen o liune 13 G IS Do 5 plai (e JSdl S Q)
(L lflsd J <

AJR1 1 HE 3r¥eiell HRUI HugH Sige

A.You will thrash-out the reasons for this problem
A S un Saa Scalimy (S A ol O

B. g%l gAY a1 WA R affrdt dudta era onfor ardia Hawi sreeRrun siadssiauft
ER]

B.You will organize the discipline committee with the permission of the principal and implement its rules
strictly

B S A G f S Gl g S e 5 € il B il S s 5l (S s

C. T ST UHT TTerRf Hud HieTe S0 Jied GHYHNE T §-q4 gud R a0 fesquar
Tqd DRIe.

C.You indulge in one group of gangsters and try to control another trouble making group with its support
C.oiiisS S 8 Js A8 Sy 8 My 58 g o)l sy w230 (S ) s S s Ssle gl Sy K8y S slilaay
S s



D.gw! fduR &1 &1 gl 99 e RIS IAUATHTST SHTell HTgTd, Qiddl 10T SHedTui & HRUGTHIS! ATg!

D.You think that you are here only to teach, not for guarding the peace and welfare.
Do A S S (S 2 52N s el o 8 S w5 U g dla S

Answer: B.d%! JBAHAUS A1 WA R At Tadia Sra i drdia RawiHt sreaRyo sindasrauil
B

B.You will organize the discipline committee with the permission of the principal and implement its rules
strictly

B S A Gl f S Gl g S e 5 € il A il S s 5l (S (s o

Answer: ATl

95 e Rigbred1 e Jdid IoH a1ed U dl— 38
The best statement of the position of the teacher in the class-room is that he is—

=o9aS gl O s 1S Gt S Wl (e gudS—

AJTCTHET g
A.The chairman of the group
Ao Sy 8

CRICIRECAIE

B.The director of the group
B. S 318 ooy £

C.ICHl Th Ha™
C.One member of the group

C.ome SISy 8

DRI EIRE G

D.The director of the group
D. =38 58



Answer: ERIGCINE G
B.The director of the group
B.X 858 5 £

96 17-30 TANTCTdIA Sdd] 3= do- 3@l STl Il 3.

Individual in the age group of 17-30 years is likely to be known as.

17-30 1€ o Ula s sk (€ 33 55k saliil S 231 S s K pee S U

A JHdd T ANt Had
A toddler
A sl 5w s

B.fhuiRad=
B.teenager
B. Ul

C.azu i
C.young adult
Caiisms

D AdJld
D.new born
D.cadl s

Answer: C.a%U Ul
C.young adult
C.audss

97 Gleiteried! Y aIR HIvId 2

Al IR e,
B.l §SR Tl
C.dl goR gIdl.
D.d BSR 3MTB.

Answer: Adl Bull} I,
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Answer:

99

I feciedn gafaie aves d der diel
DIRECTIONS: Find the odd one out from the given alternatives.

'Jﬁﬁxéjﬁc’ﬂwdl“ﬁ‘écpm

A<l
A.CAP
As

B.&grdl eiuy faT
B.WIG
B. L

C .2
C.HAT
C.duw

D.SIIST
D.SHOE
DUs

D.SIIST
D.SHOE
DG

I fecien qatame g uaig Aast.
THT YR G FHIAR 1Y AR fhdl ghe fHesdra?

DIRECTION: Select the correct alternative from the given choices.
How many pieces are obtained by making two parallel cuts on a cube?

€ il 1S Jobie e gae il jlial L B S iculy
o S deala o 30 S u SIS 5len 2 S S

A2
A2
A2

B.3
B.3
B.3

C4
C4
C4



Answer:

100

D.5
D.5
D.5

B.3
B.3
B.3

LI WIciid Jifgd] dieseigdd ardl SToT Wreiia Uil IR @

LA, B, C.D,E,F, G 3l H $EHHR §9d Thl IGId a9 313 3 3Hea.
II. F 81 D =01 debled Iuiod STo[dl 3Tg R, B 81 E <1 dch s STl SIo[al 318,
III. A g1 C =41 fdbal H =01 GHR SHcial ATgl 101 A 81 H 1 USRI 40T Tgl.

IV. E 3101 H, C =1 STl 99eidl 318 d.

Trefiat®! HIUd I 3MR?

|. F 81 G 1 A Sl 3T

II. A 81 D =1 dchTes Iuidids 3H1g.

1. H 30T D UTHHSH FHRRHR 9 3o

DIRECTIONS: Study the following information carefully and answer the questions given below.
I.A, B, C,D, E, F, G andH are eight friends sitting in a circle facing the centre.

Il. F is on the immediate right of D while B is on the immediate left of E.

Ill. A is sitting opposite to neither C nor H. And A is not the neighbour of H.

IV. E and H are sitting adjacent to C.

Which of the following is wrong?

l. F is to the immediate left of G

[l. Ais to the immediate right of D.

Ill. H and D are sitting opposite each other.

onisa Sgglige 8 o s 5 o5 e oles S Clagles 5 oa ke iy

s 5263 Ge Fe E¢ De Ce Be A sl H -un 3 50 =S 20 b (S S e 2 i S
ILF o5k 608D S oisbush SB sk eos B oaasb il S
-A5~Cem SH sl o linailae SACH . oo us3 S

IV-E Js' H usis C -0 et gse dio S

f bl 0SS e dit e e

I-F o5k euf G maisb o S

- A 3 osk 8D - ish sl S

H-H s Doy s et dllae So S

AHASD |
A.Only |
A ea |

B.$da ||
B.Only Il
B.cijall



Answer:

101

Answer:

C.$aa i

C.Only Il

G gua [
D.Id |, 11 3for i
D.AIl L Il and Il
D.oe s 11 st MlI
D.4 |, 11 3ATfOr 111
D.AIL Il and IlI
D.oe s 11 st Ml

I fedean yaiameA U ey Weg Fas.

HRA g1 feceeft Frrdia s s uifhsrm:

DIRECTIONS: Choose the analogous word from the given alternatives.
India is related to Delhi in the way as Pakistan is related to:

08 AT 1S il Gilae o Jolie B iy

= o - S YRSL o o W) (g e ol AR S Gl

A
A_Karachi
A28

B.2¥IHIdIG
B.Islamabad
B_ JL_J ?bh.ui

C.URMER
C.Peshawar
C. o

D.@ER
D.Lahore
D. _sY

B.2XHIdIG
B.lslamabad
B_ J‘..'I-l ?DLuli



102 2 G 3101 3 Y&l T B1H 10 [Ga¥id H Yehdld dR 3 Y& HIU 2 Gei 99 DM 8 fGadid #rdrd, 2 gy
101 1 g ad 1 fbdt feadia da?

2 men and 3 boys can do a work in 10 days while 3 men and 2 boys can do a work in 8§ days. In how
many days, can 2 men and 1 boy do the same work?

2 2 28 0 B S ae (28 SAS Y SHI2 ) adl Bl G S S e 00 10 S S S S3I3 4 e
fop s e gsia S IS3IT

A1
A1
A1l

B.12.5
B.12.5
B.12:5

C.12
C.12
C.12

D.14
D.14
D.14

Answer: B.12.5
B.12.5
B.12.5

103 fdg X U GoaId e, Srid 15 Helrd UiEH &= 91ad 1. @i STdidbs dese Sfor 20 Hiex ared .
R I STdids desel SN 15 Hiex FTed Tl IFHR dl Ioldids deell 30T 12 Hiex Arerd e, 3Tdl X
g U wiEd fobdl & 3182
Starting from the point X, Jayant walked 15 m towards west. He turned left and walked 20 m. He then
turned left and walked 15 m. After this he turned to his right and walked 12 m. How far is now Jayant

from X?

LS X 15 sl 150 il e s e G F 20 sh 156 Ul es e S fe 15 Giph (S jhe Ciia o s TS E 50
S Sl SO JRe 12 5l 150 cish Gl Gl e an S el e S5 e X 0 SIS

A.32 Hl.



Answer: A.32 Hi.

104 FHH! Ul 3 ded ERM & 81 Adhd

Low protein diet results in

= U B S )sa My s oS

A.3SHT U
A.lack of energy

A S (S a i

B. 3{RM4d4un
B.weakness
B.sus S

Cdle
C.growth
C.54

D.aau®t 9d
D.all of above
D.ess Yoz 0

Answer: DCRGECARIC

D.all of above
D.es Yoz 50
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Answer:

e |rdiia 3ieR-TEIreT AT Heor 7 301 Wreiid Uy I o
BS84CRMO9PDKWFA2EJ7XUQHLTY6GS

SR YW IIR] Ufgdl HRT Idc HHM fifgda srld fdl gER1 HIiT uul Iac M fifgdar sfd ™
P &R fha1 T& Srdid g 33dl 3Jd?

DIRECTION: Study the following letter-number arrangement and answer the question given below:
B84CRMI9PDKWFA2EJ7XUQHLTYBGS

If the first half of the above arrangement is written in reverse order followed by the second half-written in
reverse order, which letter/number will be eighteenth from left?

PIYEYPNS S Pl PRISY 'S, TR B QPP ISP R BE P LI ELIV LY
B84CRMO9PDKWFA2EJ7XUQHLTY6BGS

a1l el A pe oY 5 58 e WS B e Wl (6580 amy Sl s (oK) 5y 5ok I Al Y (S il S
RIS
x

AY
AY
AY

B.K
B.K
B.K

C7
Cc7
Cc7

D Tit®! Hiuidiel -Tgl

D.None of these
D.ue &S e

AY
AY
AY



106 Ueh] Pealdid 5 it auH 3gepH 15 b, U, 5fb. U, o fb. U, 56 . ¥. 9 60 . ¥. 318d. 1 Héa
WG a5 @lel (fb. T a9).

The weights of 5 members of a family are 15 kg, 5 kg, 9 kg, 56 kg and 60 kg. Find the average weight of
the family (in kg).

15 (o S 331 5 S (luia SUKG,5KG, 5KG, 9KG, 56KG, B0KG-E 5 LS ()35 Jausl 1S 2131 S (i .

A.50
A50
A.50

B.29
B.29
B.29

C.14
C.14
C.14

D.54
D.54
D.54

Answer: B.29
B.29
B.29
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Answer:

I U U U U fAeHRied IR faye sigd Sai=ardrdl a, b, c, 3110 d 3198 R {9 3gd.
HHAR fAyFidl SIS as same) yyd faur ga=a1 faumTen gaad, $ifir qigl faum afbeesed ug@
faurred Afed s/,

SR U1 Y USdl, ) Hl U &4t Siofe
A. UI%9 Id 3T

B. 1t te o4t fawd gach 3

C. Ur& 9 USd ATl

D. Hi B3 fa&a gaet A8

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If it rains , | will bring an Umbrella
A. ltis raining

B. | have bought an umbrella

C. It is not raining

D. | have not bought an umbrella

i S osdss Shuie gpanl g R 0w i S8 gl g ea) tea Jla amy Suen o dles Sl e Vs il
ot Gl S Ol (638 5 ihie Lea 53 5l Ly Sl oyl (SAles o jusd Alea Dy la

By srieaum 5 o ndi b S
A= s sk

Bus Y e ue-
Cotl 52 o dik-

Dos WY (2 s Ser e -

AAB
AAB
AAB

B.BD
B.BD
B.BD

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD

AAB
AAB
AAB
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Answer:

109

Answer:

HIAGR] dlBdc g ] WM 3Mg
Kalahari Desert is in the continent of —

= o bl S Oy s LYS

A SRMAT
A.Asia
AL

BIIM

B.Europe

B.wUs

C.3pId]
C.Africa
C &l

D. 3T fer

D.Australia
D.LL Al

C.3{WbIdT
C.Africa
C.~ay il

‘371 DI U T AR 3 BT ?

A 3{T4Te5 B0l
B.SeT€aR] cTeul
C.3{TIaRE1 Hes BlgUl
D. =R &l

B.SiqTEgR] c1al



110

Answer:

m

2 gdia uyite! Ude Uy U T8I T8I 318, Hifdidl T GG &1 31Ul divg F@ st
4,7,11,18,29, 47, ..., 123,199

DIRECTION: In each of the following questions one number is missing in the series. You have to
understand the pattern of the series and insert the number.

4,7,11,18,29,47, ....... , 123, 199
= U seS ba S 5l a8 55l o Ugnan Spom ol S o 0ad& jual S S 7 s ae I g 52 S Ui il

4,7,11,18, 29,47, ... , 123, 199

A.T6
A.76
A.T6

B.70
B.70
B.70

C.84
C.84
C.84

D.102
D.102
D.102

AT6
A.T6
A.76

g4 f[abdIss 3IF UbRdl gUrdl S1a0l 3ied. Ufged] de-RHEE gl TabdR] 80% 3iTe S0l g&=l
S eARAY QYT THPAR] 60% 318, SR A Ulgedl dhe-RAdd 28 ¥ M0l go1 de-RAdid 32 ferex gy
T &, R A1 YUl gerel TqbdR] &1 3™¥d__

A milkman has two types of milk solutions. In the first container the percentage of milk is 80% and in the
second container the percentage of milk is 60%. If he mixes 28 liters of milk of the first container to the
32 liters of milk of the second container, then the percentage of milk in the mixture is__

g&‘.ﬁgwgaljj&ad.jé)uﬁ_}jd%go n_.u‘..'ﬁJ.\...:gé'.S..a_\J_‘.‘J:\.o:_"E\_i_jl.gm_‘._,_“SC_)Ja_,_ﬂ.du‘eécl'ljn_‘._,_‘
‘S_,gM;J’CESQJ‘LSA:_,JJ:\AEJ:!CHLJEL:LJ:\AJQSZéG\SLPJaa;JJJ@28553C\ﬁaJJ§I 551%60

A63.99
A63.99
A63.99



Answer:
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Answer:

B.69.33
B.69.33
B.69.33

C.725
C.72.5
C.725

D.75.2
D.75.2
D.75.2

B.69.33
B.69.33
B.69.33

Grdiad! gaid HI6T 3quife e

Find the largest of the following fractions:

GiS OB u€ (65 s we e suS D e 50k

AA17/23
A1T7/23
A17/23

B.27/33
B.27/33
B.27/33

C.37/43
C.37/43
C.37/43

D.47/53
D.47/53
D.47/53

D.47/53
D.47/53
D.47/53



113

Answer:

114

5,8, 11, 14, ... Hifcidbdid fbdedl 3HHM Ug 323 318 ?
Which term of the series 5, 8, 11, 14, ...... is 3237

5,8,11,14, ... 323% s flui S o S 7 jus o

A.108d
A.108th
A.1080s

B.107d
B.107th
B.107U1s

C.106d
C.106th
C.1060s

D.54d
D.54th
D.540ls

B.107d
B.107th
B.107uls

FEdandieT sie -
CRYOGENICS is —

= e (130 0) oS sl S

ATTHE U UHR
A.A type of tank
ASEE S audd S

B.&H! dUHMId g 3101 g1 g

B.Study of materials and phenomena at low temperature
B.rallas 1S o ga 5l disfiie 53 ol pm aj2 S

CcfS3Nufdees geHhidn g

C.Study of Radioactive elements
C.llae € jalic X o4,

D AT0d! Udbg! ATol

D.None of these
D.usd &S s ue



Answer: B.&H! dUHMId g 3101 g1 g

B.Study of materials and phenomena at low temperature
B.rallas 1S 0 ga 5l disfiie 53 ol pm aj2 S

115 I Wieitad uyiAe e garameA defid sieR/rsa&ae Fast.

49:81:64:7?

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

49:81:64:7?

49:81:64:7?

A.36
A.36
A.36

B.100
B.100
B.100

C.121
C.121
C.121

D.144
D.144
D.144

Answer: B.100
B.100
B.100

16 UIREY Wd:d 3d §- Adhd Algl DRI —
Mushrooms can’'t make their own food because -

ASieS - B Wt SHA ) (SO a2



Answer:

17

Ad U @8 HdId
A.They are too small
A S s Ses

B. A FARIb el 31U 3dl
B.They lack chlorophyll

B. = fis oS S disss

C. i e BIcl-CIfUSHdT 14T 31dl
C.They lack photo-tropism
C.o s oS S p il A A5 el

D IiA™ L UIuit YMYU] HIUATHIST 311 3IHTT 3l
D.They lack roots to suck water
D. b 0t ¢S5 s nas (S (oS (S Usda o

B. IO Y] aRITbadl 314G 3194l
B.They lack chlorophyll

B. st onS (oS i 58 (el

a1 @rell feden faum(A) Sifdt SR (R) 9161, Elefid Ue! a9 9aig s

fa4M (A): {3 9TavaH 33 IHe0dTd Hed aid.
HRU (R): IS 910G G107 Iabha-id diadl.

DIRECTION: For the Assertion (A) and Reason (R) given below, choose the correct alternative from the
following:

Assertion (A): Adding salt helps in boiling food.

Reason (R): Adding salt increases the boiling point of water.

i Jla) Gligul 8 s s iCula) (A) Lsl(R) gaS seiiie Jabiie pumaa _w pa 8~ jaie e A Sy

5l (Y- e 330 i S IS e 58 Qi S
g_,(R):_dU_,gnﬁLmlu:a..duﬂ.h‘ijé@lg:m:iﬁ&md‘j

A1 (A) 3101 (R) T 3T 0T (R) (A) T TRY TPIHIN 3118
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A(A) 03 (R) Lsl o e U552 (R) (A) = alias o o (S

B.GIR1 (A) 30T (R) TN 3MTgd, T (R) (A) T TG WFIHRUI el
B.Both (A) and (R) are true, but (R) is not the correct explanation of (A)
B.(A) L5l (R) o5 e mnam 05352 (R) (A) = s alimy s 2 (S

C.A) Id 318, I¥g (R) TIT 318
C.(A) is true, but (R) is false
C.(A) (5 ¢z am (R) 1l



D.(A) WX 317, W (R) T 38
D.(A) is false, but (R) is true
D.(A) & « o B (R) 2 g

Answer: AZGII (A) 3TN (R) I 3MTed 0T (R) (A) T TG TIPSR 318
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A.(A) o5 (R) Ls o e U552 (R) (A) = mabias o o (S

18 HIvd fau™ Ig 3M18?
Which statement is true?

?deJJ\:\;LA_,S

AJTRISTA G 3fAfdg dI.

A.A line segment has two end points

A. xS S el 5y S S 5V Y
BIWRASTA Sifeg THdId

B.A line segment has no end points

B. -0 s ot S alTal S il oY S

C 8T U 3rifeig 3l

C.Aline has one end point
C.-Cj 15 0 30 LA Sl 1S SR8 ey

D Ve & Sdifeig Srdrd

D.A line has two end points
Do S S0 Tl 50 S Y S

Answer: AITRISTA G ffeg SRIdT.

AA line segment has two end points
A U S SSG alEia) € Eu i S

119 GTeiierdeb] HIoTd GRIUHENT TR 3152
Which of the following is a city in Europe?

f oM i Sl S e didg 0

A sRiferan

A.Brasilia
AL



Answer:

120

Answer:

121

B. g dih
B.New York
B.Sb s

c.afH

C.Berlin
C.olx

D difSi
D.Beijing
D.Kisy

c.8feH
C.Berlin
C.oln

SN +FgUS -, - U K, x FRUISA =, IO s e At 7=3+2-3+5x10

If + means'-’, '-'means "', x means '+, and'+' means'+’, then10x5+3-2+3="?
10x5+3—2+3=2 5+ calla'+ b Cllay ' clla 2t Gl + )

A5

B.2

€.7

D.18

A5

Y1 feden yafaime 3Tes d 9o Hlel.
DIRECTIONS: Find the odd one out from the given alternatives.

SO S 5 o e o diliie B e

A3
A3
A3

B.4
B.4
B.4



Answer:

122

C5
C5
C5

D.9
D.9
D.9

B.4
B.4
B.4

faem:
IHAY WG eI [gHTeATd IxgiaRia S{UgTdi=al Sl died 3MTed.

Fat B
|. Shq¥ IR Uil dlg-idl aTuR HH| 01,
I1. TEATerITd U= RaMI AT diTesdl 9d dIg-iaR §el 9ral.

Statement:
Number of road accidents in Himalayas are increasing due to poor visibility in snow.

Course of actions:

I. Discourage use of white vehicles during snowfall.

Il. Ban all vehicles except red from entering Himalayas.

U=

2o A5 danl (S Sl Sy B (e ailles s an g (S i pS Hlai aa (e gLl

oo 23Y:
|- s oS (K Al ga (S 38 Jlanihal (L 5E asdis 558 S (5L
Ion B eaily 53 1als S i€ Qe Gilio Sle 2850 JY (e milas

ATHE | STHEA 318
A.Only | follows

A Cipa | 8 &Y

B.Wad || SRR Hd 38
B.Only Il follows

B. Cija [l € 5 £Y

C.Qﬁ'\'lﬁﬁﬂ I Sﬂﬂﬁ&ﬂﬁ'
C.Either | or Il follows



Answer:

123

D.| fdar 1| G510 BRIl SHTERY B gl

D.Neither | nor Il follows
D. 13 18 55 &Y e FsS a e

ATHE | TS 318
A.Only | follows

A Ciya| K 5 Y

LI WIciid Jifgd] dieseigdd ardl SToT Wreiia Uil IR @

LA, B, C.D,E,F, G 3l H $EHHR §9d Thl IGId a9 313 3 3Hea.
II. F 81 D =01 debled Iuiod STo[dl 3Tg R, B 81 E <1 dch s STl SIo[al 318,
III. A g1 C =41 fdbal H =01 GHR SHcial ATgl 101 A 81 H 1 USRI 40T Tgl.

IV. E 3101 H, C =1 STl 99eidl 3Ted.

Geiiel Ut HIVAI/DIUG AT HTga?

|. D BT E =01 S fa¥r 313,

II. D 8T E =41 Iuidish s UTerdl 3Tg.

II1. A 3101 F UhH D AT SISl 3o

DIRECTIONS: Study the following information carefully and answer the questions given below.
I.A, B, C,D, E, F, G andH are eight friends sitting in a circle facing the centre.

Il. F is on the immediate right of D while B is on the immediate left of E.

Ill. A is sitting opposite to neither C nor H. And A is not the neighbour of H.

IV. E and H are sitting adjacent to C.

Which of the following is/are correct?

l. D is third to the left of E.

. D is fifth to the right of E.

Ill. A and F are adjacent to each other.

ol Sy K o a5 gl glas S Claglea g an paie iy
|52 63 . Ge Fe Ee Do Ce Be A sl H -0 i s =S 20 b (S S5 e 2 i S
ILF o5k 08D S sl SB sk s E- o cash il S

I-A $~5C e SH sl - olancillan SACH . ooy sl S

IV-E b H s C - et pe dio S

S 2 a3 (S s e did e

D¢ E- =l —agls S

D« E-=dsie —e o S

H-A DS F G Ss e e o jusse S

AHASD |
A.Only |
A a |

B.$d3 ||
B.Only Il
B.cijeall



Answer:

124

C.ohdas | AT 1]
C.Onlyland Il
Copal sl

D.&das || 10T 1|
D.Only Il and 11l
D.isea Il sl I

C.ohdas | AT 1]
C.Only land Il
Copal sl

I 1 YA Ui GH fAeHaR 1 e ddra i | $fvn 1 3R sifdhd dal 3. SR SrErgol
AR 3cied] AATaRISR Sebd A9 a¥l Wieiid (a4 SRIaR 3Med 3R FH9 gHd I IR e,
ae:

T4 WBIF YHIH HdId.

%@WWW@TW%&@H.

|ﬂif9§;|1:|ﬁamn°\f@aﬂ§&n%ﬁ
I|. BT ATE AT VB[ 315

DIRECTION: In each of these questions, two statements are followed by two conclusions numbered |
and |l. Assume the given statements to be true, even if they seem to be of variance with commonly
known facts and then mark your answer as.

Statements:
All players are smokers.
Some smokers are wine-addicts.

Conclusions:
l. All smokers are players.
1. Some wine-addicts are smokers.

ol i g amy S Uy 5 e Jlsw Sl g e e Oyl | sl Il egaS paluf a0 Sy K o p K
-8 23 L Gl s Wyl (Blae S Gl ey sl s 1 SRS gsSe yr S Glia agles g shale o5 S

<l

-on Ui Sl (63 plad
o dle Sl iy Sl gas

da:
L - @3NS it 5Slaad ol
Il -G s Shad gile S ol )l gaS



AR $des ey | Fed sraer.
A.If only conclusion | follows
Arsiicipal - 2GS 655u

B.SR %da fshY || fed sRieur.

B.If only conclusion Il follows
Baficiall - U S s5u

C. R g%l ey ud srgear.
C.If both the conclusions follow
Cour S8 oo afiusse

D.SR gl fAspy | 3nfor 11 fFrad e
D.If neither | nor Il follows
Dsrlall- 2 Us g

Answer: B.SR $des Y || FRed sraem,
B.If only conclusion Il follows
B.raficipall - = VS g5un

125
feeean srpdired frdt =teia smeay
How many squares are there in the given figure?

200 (2 ) Y Sl & S Uil o L3 50

A7

C.10

D.8

Answer: C.10

126 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
My boss asked me to account for the failure of my team in achieving the annual sales target.



Answer:

127

Answer:

128

A fight for
B.answer for
C.dream for

D.attack for

B.answer for

Out of the four alternatives, choose the one which can be substituted for the given words/sentence.
The study of human societies and cultures and their development

A.Anthropology
B.Calligraphy
C.Choreography

D.Physiotherapy

A.Anthropology

HaTeTd Hayd U 3l
The basic elements of communication are—

AT 3T Ul

A.The Source and the Receiver
A, 03K Jgay 4 23l

B.AYGR 3y ey
B.The Messenger and the Receiver
B. o2 Jpmy g Yl pliy

C.Jid 3101 9

C.The Source and the Channel

D.add Id
D.All of the above
D. (e YUz jia



Answer:

129

Answer:

130

Answer:

AT 3T Ul

A.The Source and the Receiver
A e ey 5 22l

TG 1 YsgTdl Geit Fraal.

ATT+4
BA + 31
CA& + T4

DA+ 344

BA+3H

Pichil IXRTER 3 Fd S FiHT 41 HUdTd Hed Hd.
present on the body of insects help them to breathe.

O3 S8 e e i Gl S O — dgmge yaus S 538

ATGTd
AGills

A, 15E
B.4Tg-c!

B.Tracheae
B.oobi (S el

C. YRR
C.Spiracles
C. i) uea 8 2l Guils)

D.GUpH

D.Lungs
D.  Sexes

C. YRRy
C.Spiracles
C. i) uea 8 2l Guils)



131 1 feciedn gafaime aves d de’ Plel.
DIRECTIONS: Find the odd one out from the given alternatives.

'Jﬁﬁxﬁjﬁc’ﬂwdl‘d‘ég‘lm

A.MOLN14
A.MOLN14
A.MOLN14

B.QSPR18
B.QSPR18
B.QSPR18

C.XZWY25
C.XZWY25
C.XZWY25

D.RPSQ17
D.RPSQ17
D.RPSQ17

Answer: D.RPSQ17
D.RPSQ17
D.RPSQ17

182 Uil Sadl 39R1 81 Y 318

The Leaning Tower of Pisa is in —

Afgeq
A.Britain
A ~slb

B.ThI=
B.France
B.owil

C3cdl

C.ltaly
C..t

D.RasRes
D.Switzerland
D.id i



Answer: C.s?_cﬁ

C.ltaly
C..t

133 R Regr=ar JPl FIord WeR Fhar & Asa?
Which letter or number will replace question mark?

o AN | \ - } e

B.N
c.Q

D.L

Answer: c.Q

134 B 81 D 9 HIS 3i1. D &1 E g §81U7 3M18. E 81 F 91 HIS 3{8. A7 F I B Hidd Ald BT 3g?
B is brother of D. D is sister of E. E is brother of F. How is F related to B?

DB =S ED —2n S FE 5w S FEBS o i) S

A HIS
A.Brother
Al

B.dalul

B.Sister
B.ow

C.Y1S fdar sgiur
C.Brother or Sister
C.onlb Ae.

D91 Udha! ATet

D.None of these
D.usd A8 = e O



Answer: C.HT3, fdhdl Sgiuf

C.Brother or Sister
C.onb A

135 &= mifereT guf B
A ?,1,0,U
DIRECTION: Complete the series
A ?,1,0,U
35 dsSa 5S 7 e sl il

A?1,0,U

AE
AE
AE

B.M
B.M
B.M

C.O
coO
CO

nip
D.P
P

Answer: AE
AE
AE

136 iy wear SgAwer Rdean aeget Tvarde g .

DIRECTIONS: Find the water image of the object given in the question
figure.

UE S Syt S Ao S 5 Bgauas Bsis N izlo

PQBAF5BZ9

L T T LR



(A) bG8VE2BZd
(B) bH8VLE2BY6

() bG8VISBY9

(D) bG8VE2BR0

Answer: (D) bO8VE2BY0

137 SIS FHTSTE 7S 3153 Fguei—
A basic ideal of a democratic society is—

s g S 2 e (6 ) e SH—

AdTibedH Add

A.Powerful leadership

A ek

B. A= Hame faya

B.Belief in the opinions of the leaders
B.os e S0 S usley,

C ! SUaigrdl SMexHTd
C.Respect for the enlightened individual

C.olial 8 Sl ol

D.¥aM Id el IFG gia”

D.“Might makes right”
D. = LS S 628 s il

Answer: C ! U gIdT 3MexHTd
C.Respect for the enlightened individual

Colsinl o € s Gy

138 STl Rered T TR A e

Find out mlssmg number from the following given options.
QWGP ALY SEIEH B T S P

AN

A. 27




Answer:

139

Answer:

B.35

C.54

D. 64

B.35

AT WIciid Aifgd] dieseigdd ardl o7 Wreiia uyidl I &

I.A, B, C,D,E,F, G 3ffU HHZHR §9d Ul dgesld seid 316 i siiga.
II. F 1 D =01 debled Iuiod SIS[dl 31g @R, B 81 E =1 dch 1> STl SIo[al 318,
III. A g1 C =41 fdbal H =01 GHR SHcIal ATgl 3101 A BT H 1 USR] 407 T8l

IV. E 3{IfOr H, C =01 ST[dl §¥dd 3HTgd.

Gt HIUET GIF Sied] Sy Hadiel ed?

DIRECTIONS: Study the following information carefully and answer the questions given below.
I.A, B, C,D, E, F, G andH are eight friends sitting in a circle facing the centre.

IIl. F is on the immediate right of D while B is on the immediate left of E.

lll. Ais sitting opposite to neither C nor H. And A is not the neighbour of H.

IV. E and H are sitting adjacent to C.

Which of the following are two pairs of adjacent members?

on s Sglise R o sawi 5 oS ol S Clagles 8N TS
|52 63 . Ge Fe E¢ De Ce Be A sl H -0 i 50 S 7o ish (S S5 (e 2 i S
LF 5 o5k 08D S ik Gils SB » sk e E- o b o S

-A $~5C 2~ SH s - 2 ldncillas SACH . 2 ox i3 S

IV-E ss' H s C -0 et g diy S

St e 55 32 SO pae o0 OS2 a2

A.AF 301 BC
AAF and BC
AAF _JBC

B.FH 31U BG
B.FH and BG
B.FH s BG

C.AG 3101 CE
C.AG and CE
C.AG 54 CE

D.BG 3Ur AG
D.BG and AG
D.BG L5 AG

C.AG 3101 CE
C.AG and CE
CAG 24 CE



140 29 b e HreagR &1 S g4ddl S1d1?

What angle is made by minute hand in 29 sec.?

29 € Ui ayg) ) Lt sS aa gan (S G (pa 380

AA1T°
AA1T°
AA1T°

B.2.9°
B.2.9°
B.2.9°

C.29°
C.29°
C.29°

D.26°
D.26°
D.26°

Answer: B.2.9°
B.2.9°
B.2.9°

141 U 33l ST 38 ST a¥gHT 3T 3101 ST A9 d.
is something that has mass and occupies space.

=5 Ba sl Um0 S —

Agerf
A Matter
A.

BY4
B.Solid
B.ouse

Cwd
C.Liquid
C. gl



D.4dlg
D.Gas

D. £

Answer: A.anaf
A Matter

A A

142 ANTIYTE JUITAT i i S aiie skiol 434 318, [d-g! S=AiUD| Jaid dg IeaT 2T
Sum of the squares of three consecutive natural numbers is 434. Find the smallest number of the three:

G2 S e B sen s s (e 05385 .t 434 ~o sandlS pyja, Solae] 3538 dudiss G

A1
A1
A1

B.12
B.12
B.12

C.15
C.15
.15

D.21
D.21
D.21

Answer: A.11
A.11
A.11

143 &1 UGl (FR)D Uhd 31 —

The Unit of noise pollution (level) is—

s () Sy (S Kol (S 50l

ASRiEd
A.Decibel
A.Janas’



Answer:

144

Answer:

145

B.cIHH
B.Decimal
B.demud

c.4i diun
C.Ppm
C.ad 22

D.daU®! sl ATal

D.None of the above
D.ust 35S s g O

A SREd
A.Decibel
Aduad

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar
in meaning to the underlined word.
The game was abandoned at half-time because of the poor weather conditions.

A_Discontinued
B.Continued
C.Initiated

D.Played

A.Discontinued

DIRECTIONS: In the following figure, the triangle represents Teachers, the
circle represents Students and the rectangle represents Actors. Which
number represents Teachers who are also Students and Actors?

JJI:'.‘;} £.2 Js-,.:; v-l‘-.-)s‘fl""_n—_";" s_-- “S-""—I -l g 'J,.....,.-:.:A,Ia

T SO e B e U8 S0 LBl UL e K, 00 el
N
3
1 5 4
i [
/ 7
A 3
B.6
C.5

D2



Answer: G5

146 Siogl SIeTd ¢ed SiId STl HIUIdT T T[aral glal 101 goral?
What part of the eye gets inflamed and becomes pink when dust gets into it?

foeia g e sl o Fas s g mas € S0 S0 T dah e Sl d o

INGEEGL

A.Conjunctiva
AllsSa

B.UR Ycd
B.Cornea
B.li, S

c XfSrd ued
C.Choroid
C.hy,s

D.2dd Ucd
D.Sclerotic
D . K35 salsl

Answer:  AAAZSH

A.Conjunctiva
AllsSax

147 A sentence with an underlined idiomatic expression is given. What is the meaning of the idiomatic
expression ‘Asleep at the switch’ in the sentence given below?
The security guard fell asleep at the switch and a robber broke in.

A Failed to do one's duty at the proper time.
B.Discharged one’s duties with utmost sincerity
C.Wanted to sleep on a comfortable bed

D.None of the above

Answer: A Failed to do one's duty at the proper time.



148 H ATHE FgUITe "< HISAT afSai=al Ydl=ar Gelidn Ja ey, 371 Hd IHAEd A1d H1?

Ram said to Shyam, "You are the son of the daughter of the wife of my father". Then who is Shyam of
Ram?

IS ol 5 A S A (S (S Glig e 'S gl Sl

A D[Dh]
A.Uncle
A s

B.gdudi
B.Nephew
B.lail

C.H[ES
C.Sibling
C.0r s e

D.HMHI

D.Maternal uncle
D.LL

Answer: B.4YdUd]
B.Nephew

B.lail

149 a1 39 feae aiH RagHimeA difdeesed FETd yaia Has], iig $de T HdgHIgd e,
Hd WWUUS! 10D ST,
Hd A0S D ST,

DIRECTION: Select the alternative that logically follows from the two given statements, but not from one
statement alone.

All cooks are drivers.

All drivers are dancers.

e e Ol S ST S e Blae Sy 50 R i ga (S et Joliia oy 1l

U 58153 sl ope
o w3 s 3 e

Agd Fde 3Ted.

A_All dancers are drivers
Auz o8 )3 S (g



B.Id 4! AdH 3.
B.All cooks are dancers
B il oa 55l e

C.PIUAIG! WU Add ATol.
C.No cook is dancer
C.- = uxd il a5l S

D2l (A) 31T (B)
D.Both (A) and (B)
D.usisr (A) o5 (B)

Answer: B Id WUU! Ad® 3MTgd.
B.All cooks are dancers
B ol oa 55k e

150 Rigrrt myfie SeeeR! — faudi s/ad

The teacher’s primary responsibility lies in—

:: (] IJ'“‘ i_g_}L‘a Al L_;-‘]‘-..‘:‘:' ‘_’S sl —

A Rieifire srgvaia e &l

A.Planning educational experiences
A mpaie (S Dl jad sl

B. 4RI SHeTeSIauil SHIfor Y= Hrol
B.Implementing and administering policies
B.US pllasil sl LS &Y S (smally

C . Uishi¥g AMd] ATdEaei Uide aor
C.Promoting human relations with parents
Cluagsd oS il Sl gl S ol

D Rrefomrean dFifawdt uanT s

D.Experimenting with teaching techniques
D.omed gl S S0 (S Gy )

Answer: A Reifores srgvata e &l

A.Planning educational experiences
A5l ~rgeaia (S Cljad gadal



151

Answer:

152

feeiell srgeaca : g - 3Nfor +, a8T 3 S 2 3NfUr4; W4 +2 - 8 I YA fabedl 2
Given interchanges: signs — and +, and numbers 2 and 4; then the value of 4 +2 -8 is

2213 SB-244 5§44 552 i 55 ek 55 - adle : Mg K

A4
A4
A4

B.6
B.6
B.6

C.-2
C.-2
C.-2

D.2
D.2
D.2

B.6
B.6
B.6

ga! aifordl therfedl fdhal AradiE=a gl 431 ard 9o axuaél 3/ ¥d.

Pseudo logia fantastica or mythomania term is to describe.

e LS ) S S lanih 18 Sl Ui sezn Ly S i L SR

A fopa1-seqT sifarddn
A.compulsive disorder
AL A s

B.XdHY Hd
B.autistic child
B.—b Jus 1S s

AR
C.violent child

C.= _u.ii_).:s

D.ad0®! HIUdE! 16!

D.none of the above
D.pe S8 e Yoz o



Answer:

153

Answer:

A fopa1- e sifardal
A.compulsive disorder
A A o

P, §dl, Bied a1 9d 3gd
Cobol, Java, Fortran are all —

s ol A sk e S

A& PRI SHTd!

A.Tribes of South America
AdlE S G0 gigla

B. TR WA eidoral
B.Computer Programming languages
B.usb) oS Sl 8 5 g

c fafay yeaar SHwd=an HiNl

C.Languages of various nomadic tribes
Clush) S Jd Jhsn A aaeie

D git®! Bivrde! gt

D.None of these
D @S ol

B. TR YA ciidelol
B.Computer Programming languages
B.usb) S Sl Ry 5 fsue



154

Answer:

I U U U U fAeHRied IR faye sigd Sai=ardrdl a, b, c, 3110 d 3198 R {9 3gd.
HHAR fAyFidl SIS as same) yyd faur ga=a1 faumTen gaad, $ifir qigl faum afbeesed ug@
faurred Afed s/,

SR {1 9iTel T fHesTel, aR Hell uaw e
A. |l T T[0T fesTel

B. Hell Uasl fHasTet

C. Hdll FivTel U fHesTel T8

D. Hll Yd fHesTan gl

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If | score well ,| will get admission.
A. | scored well

B. | got admission

C. 1 did not score well

D. | did not get admission

i S osdss Shuie gpanl g R 0w i S8 gl g ea) tea Jla amy Suen o dles Sl e Vs il
ot Gl S Ol (638 5 ihie Lea 53 5l Ly Sl oyl (SAles o jusd Alea Dy la

1§ e e als e 5 sl e 5 e S
Ac‘l-)"“"‘cﬁ":d"“

B'l—,lgd-adi-bcq—_u-

C usd ) -

D3l Gz AL s

AAB
AAB
AAB

B.BD
B.BD
B.BD

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD

AAB
AAB
AAB



155 FOT: WA ST W 3 O HTES ST SIETnh B #ay 3. §A ddy aderear #arh
TdeTeaT FURiT Wl ST FgAT Far
DIRECTION: The question below has three items having certain relationship among them. The same
relationship is expressed by sets of circles, each circle representing one itemimrespective ofits size. Match
the items with right set of circles.
Oy )3 S S Sl S gl gy Oliles Galine gule S o> i AT g i Jlsw LS ~zpaletculy

S s Gy S yapils oS Al .y Gy WSaillai S AT Sl i mhis aw Pl 031 3 1 Ul IS s Gl
T

(L)) ®) ©) ) ®
Rivers, Canals, Perennial source of water.
~syyd Jaluso B (pilyped sgbnd
A A
B.B
C.C

D.E

Answer: B.E



156 e TTEE WA, ARG UF fRaT G 9 ange M #EW, SWat IR/
Ieal g fgear amga. T Smh Jund AT e g o

DIRECTIONS: In the following question, a problem figure matrix is given with one or
more terms missing, followed by four/five answer figures. Find the correct answer
figure that will replace?

NTRP. SOPUL PPN P30 5, 14 V0= DY | 'y SSRGS, | [JSSRPLL | ™ SOy DL 3 VX SIS, o~ 5. i 0 v A TP ) [ TY T R 1 B P e SR IT
- C ¢ :

IS A8 S e o 53 e s aagm S e P e

S

T AP
Question Figure:

COCOI 00 | OO
oG & &
locooeo| o |  ?
I ATHAT:
Answer Figures:

53 e

QR OH| O | O
(A) (B) (C) (D)

A A

B.B

C.C

D.D

Answer: B.B



157 fder: @Teller TeaHEd, FIOTA ITaT ATFA T HFedrer A QO Fe?

DIRECTIONS: In the following questions, which answer figure will complete the
pattern in the question figure?

&

7

= & - , T: - T < . -
2 et £ et ed o e S e ln ol o ‘_.'3"-.- TR R gt T

= - = T e =

T AFT:
Question Figure:

4

SALATHAT:
Answer Figures:

588 gl

1/

m (2) 3 {q)

(a) 1
(b) 2
(c) 3

(d) 4

Answer: (a)1

158 feqarcr a1 Yearen favarf Wsg Hivan 2

AgY
ARGIEGED
cfed=g
D.feet

Answer: AgP



159 DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite in
meaning to the underlined word from the given options.
Shiva was deeply wounded by the treachery of his close relatives and old friends.

A.Loyalty
B.Betrayal
C.Disloyalty

D.Duplicity

Answer: A Loyalty

160 ¢ Wieitel Wsai arfbed HAMTER Hisuit H1.
1. dRUY
2. Wl
3. dIefqur
4. 3pipTaRYT
5. IR
6. faRaRA

DIRECTIONS: Arrange the following in a logical order.
1. Puberty

2. Adulthood

3. Childhood

4. Infancy

5. Senescence

6. Adolescence

028 e S U e saie e S e SO Sy
1. ek

2. &4

3.0

4 s i

5. eiae

6. s
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Answer:

162

C4,3,6,2,1,5
C4,3,6,2,1,5
C4,3,6,2,1,5

DS5,6,2,3,4,1
D5,6,2 3,4, 1
D.5,6,2 3,4, 1

o ww
NI NN
W W W
—k:—k‘—k
oo o
N NN
o oW

A& @elie WA, WEHcaial Alfowl Gedl ed. HEHcdid GEET thel S5 Aehd
IRMHHN G TIAYA Teiar wh §a fasr.

DIRECTIONS: In the following question, a series of figures are given. Select from
amongst the alternatives one set of groups into which the figures can be classified.

e WSS alie G SHB iy K, e gpea Elolte, ) K8 Japas S S B8 ey e Jge 00 oz e sy
-d_.'_(—" la gS _,‘;u och \;_(. _)gg (e

RNRERRCINREE

(1) (2) ) “@ (5) (0] (U] ® 9

B.3,84; 9886 7.1,5
C.4,73;,96,2;51,8
D.492:51,7;3,8,6

A. 517,324,968

B. 3,8 0ERE S

R I UTeTe STagR SR el STagR SIvard) Yadd]
If both parents are left handed chances of having left handed baby are

Suinad (S SV ofb S 8H Son S Nsdhoih ol osie S

A.0.68
A.0.68
A.0.68

B.0.5
B.0.5
B.0.5



Answer:
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C =1agdl ATel
C.no chance
C.up el FS

DA
DA
DA

B.0.5
B.0.5
B.0.5

a1 srdguf uRese Fafor sxvarrdl, @t feadd (P), (Q) (R), (S) 31101 (T) & Ui a1 T sigham
gRE] B; IR ATeied gy SR @1,

P. BTaedT TMUATdl odld Hail.

Q. FII[ I 2P faa.

R. SIcgll™ PIdodT=d] M-I XKdl Peil.

S. digid i JhSl U U HIda] SATSTER sHedd DlcglH Ulied.
T. T PIaaT TG ATal.

IR SR Dldiadd! HIvd i did 3&a?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crow began to sing.

Q. The crow dropped the cheese.

R. The fox praised the crow’s singing.

S. A fox saw a crow sitting on a tree with a piece of cheese in his mouth.

T. The crow was pleased by the flattery.

Which of the following should be the FOURTH sentence after rearrangement?

ustes gL o) il (P)« (Q)¢ (R)¢ (S) sl (T) usllsne B 23 28 s Sapv ol A S by ey S
e S

P. LS 55i 1-"'§C“/_JS.

Q.21 8 i S S

R. (Sciypi S 8 S, & 563l

SRPEAP. NESTR P RV TRTD L S PLETRE P PP FE ' )
Tl iss Soucmai! S

e lnldmadalaglag S oo b
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Answer:

AP
AP
AP

B.R
B.R
B.R

CS
CS
C.S

D.Q
D.Q
D.Q

AP
AP
AP

B TS Grifed s g B B! faemdl qMesa1 edhg SR SRS 33 Uard SHurdrd. grTal
qaa faemaf g Rudl UIg BR @ 81d. I1aR &1 SUl 3Mg?

It is the daily routine that some students bring unhealthy food items from the school-gate. You are full of
sorrow to see this condition of your students. What is its remedy?

Kok Rt Sl 0 S 0 << i g e, 8 <l LIRS S L pana 1S 15
=TS T AT

AWl Qs Tiedhatd srauar fasai g Svard Serewd s

A You will force to leave the peddlers of eatables from the school gate
A8 ssma gy 0 w8 S Sl S sl e sn o

B. g fazreaf1 fe=an siian e ABIUarE SeRewll ad

B.You will force the students to remain within the gate
B. 8 S ssmma g i) sl S EL SUlb

C.HBNHASHH hesdld
C.Inform the principal
C.ueS e S o

D. BTSB! U1 Al SN0 SR S0 AT 3T U7 T30y e,

D.Announcing on the prayer ground in the morning and ask them to avoid such practices.
D.usS A S e ol s gl g 5SS O3l 3 31 8 sl (e e

D. BTSB! U1 Al SN0 SR S0 AT 3T U7 T30y e,

D.Announcing on the prayer ground in the morning and ask them to avoid such practices.
D.usS A S e ol s gl g 5SS O3l 3 31 8 sl (e e
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Answer:

166

TUIShd FAhid B 3Hg?
What is the full form of NPK?

INPK = ol JaSa IS

AATICISH BIEhE UICRIaH
A.Nitrogen Phosphorous Potassium
A, pilsy e shudd G 5 ST

B.ARICISH QICRIGH BIbRY
B.Nitrogen Potassium Phosphorous
B. (sl a2l (a5 T

c [siF gl wieasd
C.Neon Potassium Phosphorous
C. esiudd anlliy gl

D.FsiH wiend drcRam
D.Neon Phosphorous Potassium
D. pdlis: (u siusli gl

AATICISH B UICRIaH
A.Nitrogen Phosphorous Potassium
A, pilis e studd (a5 T

= @refia g faeiean Tsaiar snenia siea.

Upper/Minority/ Sentinel/ Sponsor

“Minority” T JeGId $3Sll dUIHTed I fdbdll &R Tea?
DIRECTIONS: Following question is based on the given words.
Upper/Minority/ Sentinel/ Sponsor

In the word ‘Minority’ how many pairs of words have as many letters as in English alphabet?

Gt e 5gipail s o 3 g S i iy

Upper/Minority/
Sentinel/ Sponsor

ol G S i G (2989 (e @l Minority
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Answer:

AUd
A.One
A

B.GH
B.Two
B.J-‘

cdH
C.Three
C.os

DAdR
D.Four
D.ls

B.GH
B.Two
B.J-‘

Yos 9 3R TTdifadiaed Aishg eHIT Uded did YR gid H1d

Does active participation in sports and other activities improves

=Y 6 U2 0sze S )50 OF 50 Jlad 2 JieS LS

ARRIRG g TS [AHrE

A.physical & social development
Af 52 alen sl lawa

B.%da YRING

B.only physical
B.lesa G pa

C.hde IS
C.only social

D.aicd®! HIvrde! ATel

D.none of the above
D.uw A8 0 ume Yoz 0

A TRIR® g FrATore faer
A.physical & social development
Agsi e oyl Faan



168 g Wreifeaedn eRT HHID Hla! &R TTETS dhall 3ed d °l HHM Tl fodedr Taigite! U 31g.

DIRECTIONS: In each of the following letter series, same of the letters are missing which are given in
that order as one of the alternatives below it.

A.baabb
A.baabb
A.baabb

B.ababb
B.ababb
B.ababb

C.abbab
C.abbab
C.abbab

D.babab
D.babab
D.babab

Answer: A.baabb
A.baabb
A.baabb

169 Sid 3-HAd & SUId WeUad ... ...

Junk e-mail is also called :

e LS e S e o) S

L¥]

AH
A.Spam
Aplel

e

B¥®
B.Spoof

B.is



C. T fre
C.Sniffer script

C.Cu Sl izl

D.¥gd
D.Spool
D.d s

Answer: ATH
A.Spam
A.plpl

170 (1001))2008 + 1002 =1 3{fdH 3ib 38?2
The last digit of (1001)2908 + 1002 is?

(1001)2008 + 1002 ¢ = ~wais s a1 S

A0
A0
A0

B.2
B.2
B.2

C3
C3
C3

D.4
D.4
D.4

Answer: C3
C3
c3



171 HATY &l 19 ST 31T U1 3 & 96 $iTg. Sif- Fafd 94 U=l HeSl Ual A8 3ile. A |afd
G DI ?

Raju is taller than Manish but shorter than Atin. Atin is shorter than Mahesh who is the tallest of all. Who
is the smallest?

1

f oS Usen o led oo i B e it 08 Bisen e 0 S o lead e (e 52l )

A. T
A.Manish
A pinie

B. 3ffa+
B.Atin
B. ud

C. Y
C.Raju

C. s2ls

D. 4s¥

D.Mahesh
D. Jive

Answer: A. A4IY
A.Manish
A. (i

172 Ureiehid UichTe= ST Tfda el W-Hb el J91q Tahdld.

Parent encouragement and support could up child’s self-concept.

s Sl S LA T S s ) 3 L S Gl

AR
A true
A_;;I.u:JJ

B.@IC
B.false
B.Lle

c fffa mfga =g

C.not sure
C.uwd sosra
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D Fefl-FHelt

D.sometimes
D.oeS oS

AR
A true
A_;;m:_;d

a1 Trell feae UHTd U AU 3i1g S/ | 107 11 38 g sy ararel! sifdrd daidl 3. a1 SR
mwmﬁaa

ICEIGE
HRAM fopdpedn 09¥d1 a8 YU fSidbal.

sy
|. R4 fopdbe WesTg SIIdTal HalaH SHigd.
II. YR Y IS HUAN SRR AHTA 300Ul 31D UIdT Dig bl

DIRECTIONS: The question below has a statement followed by two conclusions numbered | and 1.
Based on this choose the option that is most suitable.

Statement:
India won Cricket World Cup 2014.

Conclusions:
l. Indian cricket players are best in the world.
Il. Indian team was able to score more than 300 runs in the World Cup finals.

D 50 2 S S e dlsn B o o il | ) 1] - S GBS GBI 55 Bl bl (S gl G K

2
(B>

W cua 2014 oS 3, E€ S L3,
. Oz O e L (s 5NS S ES S ol
Il S S 5sSasl 335 285 e 300 aff Gl pe Ji S S35

A $Hdes ey HHIS | AR ST $lo.

A.Only Conclusion | follows.
A rasiicipa | & 5 AY

B.Hdw [shY B || AR ¥R 38,

B.Only Conclusions Il follows
B. e pa|l K 5 LY
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c .y wHi® | fhdl 1| srTaEA 38,

C.Either | or Il follows
C.IUIlE 5 &Y S e

D PIUdTe! sy SHEH Tl
D.Neither | nor Il follow.
D.1sst 8 5 0st 8Y cer (S o e

D.PIUIdTe! FshY SRR ATal.
D.Neither | nor |l follow.
D.1sst 8 5 0st 8Y cer (S o e

a1 srdguf uRese Fafor sxvarrdl, @t feadd (P), (Q) (R), (S) 31101 (T) & Ui a1 T sigham
gRE] B; IR ATeied gy SR @1,

P. BTaedT TMUATdl odld Hail.

Q. FII[ I 2P faa.

R. SIcgll™ PIdodT=d] M-I XKdl Peil.

S. digid i JhSl U U HIda] SATSTER sHedd DlcglH Ulied.
T. T PIaaT TG ATal.

ORI SR QlAiadd! HIord e R $&a?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The crow began to sing.

Q. The crow dropped the cheese.

R. The fox praised the crow’s singing.

S. A fox saw a crow sitting on a tree with a piece of cheese in his mouth.

T. The crow was pleased by the flattery.

Which of the following should be the THIRD sentence after rearrangement?

ustes gL o) il (P)« (Q)¢ (R)¢ (S) sl (T) usllsne B 23 28 s Sapv ol A S by ey S
e S

P. LS 55i 1-"'§C“/_JS.

Q.21 8 i S S

R. (Sciypi S 8 S, & 563l

SRPEAP. NESTR P RV TRTD L S PLETRE P PP FE ' )
Tl iss Soucmai! S

?G‘E‘%Ufi)@%mdéiﬁ\é:ﬁlﬁjnJ\éjj
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175

Answer:

176

AT
AT
AT

B.P
B.P
B.P

C.S
C.S
C.S

D.Q
D.Q
D.Q

AT
AT
AT

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
The criminals_got away after killing three men.

A.repented
B.regretted
C.escaped

D.imprisoned

C.escaped

DIRECTIONS: Complete the series by choosing right
figure from the given choices.

foder: e RFeamye Qg arget fraga mfersT Qo #.

LS dia 3 s o S8 ilie B simsana s DI 3oUS ) A1l

AR

(A) (B) (C) (D)




(A)

BUA

()

(D)

Answer:

(o)

177 DIRECTIONS: Which one of the following figures represents the relationship among Shirts, Bed sheets
and Towels? Ja1: TMUDI DI il cH, 98 My 30T A= G ATd GRITA? ~a ke © iy

€ S Sila (S el (e pr S 5 ) Gulili B praged g s (05S s ge sasbaidd

|G 0
O

® [0©

0@

) |GBD

Answer:
(A) oNeo)




178
2-[6—{3+ (=4 + 5+ 1) x 8} + 12] =?

2-[6—{3+(—4+5+1)x8) +12] =2

2-[6—{3+ (=4 +5+ 1) x 8} + 12] =?

A1
A1
A1

B.2
B.2
B.2

C.3
C3
C3

D4
D4
D4

Answer: & 3
c3
CS

179 TN 3 3MgaTd Sdld &1 A= Higar yAmng faendf @ srft FRPIE Hasa smed of -

Research studies report that too large a proportion of students are choosing for their careers which are-

s by Slatl € € 1wl el 15 Cus S Ll oS 5K Brygry alllas Bdate

A G S0 GRIIDIG bl
A.Professional and managerial jobs
ALUse B (allall sl Sl 5 e

B.fafga snifor fagsar i1

B.Clerical and sale jobs
B.usie Bl (S a5 8 4 S

C.aiduia S eRAcdt a1

C.Public and domestric services
C.clexs 4l 58 5 e



Answer:

180

Answer:

D. I 30T 3ref-p=Iet A=
D.Skilled and semi-skilled jobs
D.0sia e 2ia i a5l ka5

A G S0 ARIIDIG b
A.Professional and managerial jobs
ALUse B (allall sl Sl 5 e

Rigrpidl sraR™fed I — SrgAdT &d
The Code of ethics of the teachers permits them to—

Sl Clal (el 38 1S CilEdal S ailul—

AT FTfdie faemafen 9 934 Riefqu

A.Teach for pay a pupil in his class
A3y S AT S dle Qe e i3S

B.avfaTe<Iel SR JeHFT SIol

B.Participate in politics out of class
B. 2 mas e il il S L3S

¢ ST S goargdt @ AT i Sl

C.Apply for a job before its vacancy is announced
Co Sl S Jo wodel S5 Js

D. oA Srdi=t == S0 58 ATl gy ared

D.Discuss confidential matters as he sees fit
D. = Vgaaws aulia oy 2 Liaa o S K38 3 Clilae nia

B aTETed ISHRUNd e 4R g0t

B.Participate in politics out of class



181

e @relt Raear s smandier gfasm aien.

DIRECTIONS: Find the mirror image of the figure given below.

< LR - .‘T - e At o el |
S A s ;M \_.yJi_:ﬁ J;.l.‘ e

T AT
Question Figure:

Q|

SALATHAT:
Answer Figures:

1153 e

DB DD
A B C D
A. (A)

B. (B)
C.(C)

D. (D)

Answer: A. (A)



182 Fa1GH faum st aFaR TR sy, 1, 1, i safdn v f&d sred. 81 faem ammia: J1a axgfRudioan e
3cl a1 F 3HTed S TN, fedeamie! sivrd ey feden fAumias 79®! d1ed 33 Udhdl © gl
3Agd 3Te. JHd IR Yfad B
faem:

(a)@?@ﬂﬂ@;ﬁ?@.
(b) 4 gAT T 3HT8d.
e

|. PTE] Cacd Al 3HTgd.
II. D11 Caed Tl 3T
1. P11 gl Tt 31ed.
IV. Uhgl ead T TG,

DIRECTION: Two statements are given following by four conclusions, [, II, Il and IV. You have to
consider that statements to be true, even if they seem to be at variance from commonly known facts.
You are to decide which of the given conclusions can definitely be drawn from the given statements.
Indicate your answer.

Statements:
(a) No cow is a chair.
(b) All chairs are tables.

Conclusion:

|. Some tables are chairs.
II. Some tables are cows.
[ll. Some chairs are cows.
IV. No table is a cow.

&Mm_&uﬂ%ﬁedﬁﬁﬁﬁmj::&ghg_ lells 111 ! |V_&Hnjuyc'\éze)ghgﬂﬂLnMJ:aﬂ@nj)Sx?ﬂ-
L 5 M85 e il ga g UGS L) sl 55k i) wgmeppada 8 o S0 (A8 Ciilae e (Blis ol
e RSN G

Oy lelal:
= o S 8 5
o g U S

lug Qs S miw ~aS
o € e a8
Moz S Gl S ~2S
IV o S g 68

ATH®R || fbar 11 fsed Faa
A_Either Il or Il follow
A SLll 2wy

B.US®R Il fhar Iv ey Rga
B.Either Il or IV follow
B.Ull UIV o



C.%de | ey e
C.Only | follows
Cral pusn

D.g10%1 Udhal ATel

D.None of these
D.ouw s

Answer: D .I10®! E{Hﬁ’f =|'IT§‘T
D.None of these
D.ouw s

183 I fedien yaraime dTes d dTeR el
DIRECTIONS: Find the odd one out from the given alternatives.

'J)Suzxjsjﬁc‘c"u:“d““‘*—“ég‘);‘“

A.SUNDAY : YADSUN
A.SUNDAY : YADSUN
A.SUNDAY : YADSUN

B.MOTHER : TMPRHD
B.MOTHER : TMPRHD
B.MOTHER : TMPRHD

C.PARENT : TNEPAR
C.PARENT : TNEPAR
C.PARENT : TNEPAR

D.MOSTLY : YLTMOS
D.MOSTLY : YLTMOS
D.MOSTLY : YLTMOS

Answer: B.MOTHER : TMPRHD
B.MOTHER : TMPRHD
B.MOTHER : TMPRHD



184 1. Wieitad UyiAe e varameyA defid sieR/rsa&ae Hast.
NUMBER : UNBMRE ::SECOND: ?

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

NUMBER : UNBMRE ::SECOND: ?

NUMBER : UNBMRE ::SECOND: ?

AHOESTN
AHOESTN
AHOESTN

B.HOGNSD
B.HOGNSD
B.HOGNSD

C.ESOCDN
C.ESOCDN
C.ESOCDN

D.DNOCES
D.DNOCES
D.DNOCES

Answer: C.ESOCDN

C.ESOCDN
C.ESOCDN
185 Geiterie! gfew il Wsa 3fisw.
AT
B.HaHil
c.Hd
D.gd

Answer: AHe



186 HRT IR YHRY Y Idd: Sidd, [RY HIURST 9 YA:aTRvararg Sids daame, 81 U6 Hewrdl YR
3.

Garbage can be put under four categories: organic, toxic, soiled, and recyclable. Of the organic waste,
this forms an important part -

¢ raan (gl S il Al ¢ Qi8S S g st 18 55 «SAE T U La il Ciad S (g 5a) Jla S ES K58

ATRes fU=rem

A Plastic bags
ASs S Saudy

B.HTSiid! ATt
B.Vegetable peels
B.o e

C&HiE
C.Glass
C.oX

D.41g
D.Metal

D. a2

Answer: B.HISidl Iral
B.Vegetable peels
B.ob e

187 WEREAN ... UMY, TRHR 9 URId Holcdn Afazaqr=at 3iargR Aseivd Fd ord.

The Government can be removed through a no-confidence motion passed by the Parliament, in the
...... system of government

s L LS o380 S Caagfa iy shake (ae Criad s S (S jad S alaie] pte e ol . S CuSa

AT
A_Federal
A S

B.U&H®!
B.Unitary
B_ Lj—‘ih_’

c.3emefiy
C.Presidential
G. sl ua



D. T

D.Parliamentary
D. el

Answer: D I9elg

D.Parliamentary
D. el

188 fabit dg feifga Tat smed?

How many Vedas have been written?

oz K ey

A2
A2
A2

B.3
B.3
B.3

C4
C4
C4

D.5
D.5
D.5

Answer: C4
C4
C4

189 dISHA Il A1 ardl gadd

The saliva secreted in the mouth digests

S e S i s IS e e

ATIEH
A.Proteins
A



BE™
B.Starch
BEJ\:\N‘

C.aRdl
C.Fat

C.ou

D Sigadd
D.Vitamins
D.o<5s

Answer: B
B.Starch
B.z_Gu!

190 Out of the given optionswhich best expresses the meaning of the given Proverb?
Empty vessels make (the) most noise/sound.

A.People who have a lot of wealth do not boast at all
B.People who talk a lot and frequently express their opinions are often stupid
C.The vessels made of light metals should always be preferred

D.When the vessels are kept side by side they make a lot of noise

Answer: B.People who talk a lot and frequently express their opinions are often stupid

191 A 31107 B sfgufi 3. R 311 S U3 3ed. A =l Gl R = §&107 3118, 1 B I S Hied Ald B 3118?
A and B are sisters. R and S are brothers. A’'s daughter is R’s sister. What is B’s relation to S?

ALsB = RIS o A SR 2o S BES Y Al €0 S

A3MTS
A.Mother
AU

B. 3Tl
B.Grandmother
B.sala b b



Answer:

192

C.§ gl
C.Sister
C.iw

D.®l%
D.Aunt
DY\

D.®I®
D.Aunt
DY\

faem:
HRATdIA drg UGNUI YOS Ulded] Mad 3Tg.

Haitdl B
|. PICHATIBTEN dTR FidsTad B,
II. YRATd YT HRUT-T1 ki1 MYTITATS IR A RO .

Statement:
Air pollution in India is reaching alarming levels.

Course of actions:
|. Ban use of insecticides.
Il. Institute a high level committee to find persons involved in polluting India.

s

[

o ) e <SS 2 Sk (Kol laad (e L

oo AadY:
o8 gty s Jlaatiaal S cilypl jla o 38
I s o JueS S s (el S S 5 S (B3 58 a1 Sisla a3y (Sl sl

ATHa | STEEA 5.
A.Only | follow

A a8 &Y

B.Wha Il 8RN HRd 38
B.Only Il follows

B. cijea 1 € 5 £Y

C.USMR | fhdl 11 3TaE 3118

C.Either | or Il follows
C.lLI& 5 SY S e



D. | fa1 11 AEUP! BTeTel SR B 181

D.Neither | nor Il follows
D.1os 18 5 s Y oo (S o e

Answer:  D. | fddl 1| B! BIEIET STV Hd ATEL.

D.Neither | nor Il follows
D.1os 18 5 s Y oo (S o e

S forer: areARTeR ATl SIS rFAeN Seax el e,

DIRECTIONS: Find the answer figure in which question figure is embedded.

\ 3 | Si= F | |
- ‘:;é-";Jgr- A e o ..:*'%‘u..::d“.‘.)i".. A

T A1

Question Figure:
53 Al

/N

IALAFAT:
Answer Figures:

558 sle

AWMV

(A) (B) (©) (D)

A (A
B. (B)
646

D. (D)

Answer: B. (B)



194

Answer:

195

faéar: ot 7 argear v e 3R, e Reeasys ot F ardeedar s
3 "rdeen agan fAasr.

DIRECTIONS: An unfolded dice is given. Choose the folded pattern of unfolded dice
from the given alternatives.

‘—uu:J =;3” e _..._-.i — _'.‘)‘.2"‘.33.& :_‘_5 ,‘l.n‘dl‘;.-cn‘l "LS -3 H_Jii lam s _&!3_"1’.}._;

,S D) gt L e S

-l

(A) C ’>

® | p [c|

(€)

(D)

(B) D IC

Wl fas! fhHd %. 800 S8, GHFGRM dl 10% SN 15% <N G R FdadIaR BRG]l bl dH
JEIPIR 3. 25 T ol S0 Gl %. 800 1 [ddett. AT AHI/dIcATd] cabhaR] Blel.

The marked price of a chair is Rs.800. A shopkeeper purchased it on two successive discounts of 10%
and 15%. He spent Rs.25 on transportation and sold the chair for Rs.800. Find out his gain/loss
percentage.

das 5 dis S 0d Jups e ) dubias 50 S%15 S5 %10 ol 2SS0 S o s 800 S Siade (S o S K
S astee da (818 laals [ ondld 1S gl Lo gy 2e 255 80058 e S S SEoa 525



AA®RT 25.58%
A.Gain 25.58%
A. 25.58 xi%

B.dIel 25.75%
B.Loss 25.75%
B. 25.75 (laii%

CA®BI 11.11%
C.Gain 11.11%
C. M1 &%

D.deT 11.11%
D.Loss 11.11%
D. 1111 Juaii%

Answer: A.AWI 25.58%
A.Gain 25.58%
A. 25.58 xi%

196 1. Wieited UyiAe e garameA Heftd sieR/Asa&ae FasT.
MxN:13x14::FxR:?

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

MxN:13x14::FxR:?

MxN:13x14::FxR:?

A14 x15
A14 x 15
A14 x 15

B.5x 17
B.5x 17
B.5x 17

C6x18
C6x18
C6x18

D.7 x 19
D.7 x19
D.7 x 19



Answer: C.6x 18
Cb6x18
Cb6x18

197 TS HeTd 81 ] FeIeXw I Fiedl T

The Taj Mahal was built during the reign of —

L3 LS Ll ae e s (S Sdaagls

A.3hdaY

A.Akbar

A. S

ERIRERE]

B.Shah Jahan

B. s ol

C PITH-teF

C.Qutb-ud-din-Aibak

C.Sul cpll s

D.3fsiTgH et

D.lbrahim Lodhi

D.p25 anl 5

Answer: ERUGER!
B.Shah Jahan
B. s ol
198 378 x 456 = ?

378 x 456 =7
378 x 456 =7
A.172368
A.172368
A.172368
B.172524
B.172524

B.172524



Answer:

199

C.152464
C.152464
C.152464

D.145278
D.145278
D.145278

A.172368
A.172368
A.172368

Prér S T WAt REER U 6 7T $eF TS §edT §aEEn asiEer SE
iRt REw ¢ Fwe we REeswr W AftewAtd ovEsaTvATt auterTedr W awiEEn
ZER R WEE. AdEw-l =@ A oy At 0 F 4 ¥ FAs R amew snfor fAdew-ll e
5F 9 3W FAE Re WX NP T AdSRwAt FEY § wuw mrear A i @ et
ot amga, TErgTomd, N’ 21, 67 % Imwery dEa amg nfr R ¥ 57, 66 3. WS
s wF ATE. AR FEeTer METER' U7 sRETETS! ¥W F@arawr .

DIRECTIONS: A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are represented by two
classes of alphabet as shown In the given two matrices. The columns and rows.of
Matrix-I are numbered from O to 4 and that of Matrix-11 are numbered from 5 to S. A
letter from these matrices can be represented first by its row and next by its column,
for example, ‘N’ can be represented by 21, 67 etc. and R can be represented by 57, 66
etc. Simillarly, you have to Identify the set for the word METER’.

P SEETCRNONC,, |CCGRIN WL 41T DINOUNE v SRR 1. 0 S SSCSSS - fpouc L awrepa. ) o pov—gei i vt P g, 395 J S L%
S S S o oS e 23008 2 2 S v Fay A S i S i 23 S & e S S i
P JETERT BRSPS IOt ] - I I B o -+ 3 < B G SOVIRIIINRL & S SEPL S 1T B PR

Woe oy Sl S and SRS o da SRS E i XS o Sk P Sudia S

25 et e R S T e o oy P iy 2 S0 g0 5F Ll S HETER g (S ol S S S

REAES S HEren

Matrix-1 Matrix-II

R - s

ol1121314 5|8|7|8|9
|V [R[AIN|B S|H|M[R|T|T
1IwlulNIrlL 6IM|RIN|T|P
2|E|N|R[G|J 7{[CISIT|E U
a|[N|J[P|O|M s|s|nN[s[m]s
s|E|T[O[F]A siM[B[E[Q]|U

A. 65, 40, 68, 99, 66
B. 88, 20, 59, 97,13
C. 56, 78,41,40,67

D. 95, 41,40,68,57



Answer: B. 88, 20, 59, 97,13

200 &R [Gdien s Arferddia gatd! s e
8,5,6.5, 11, 26, 68, 207.5

DIRECTIONS: Find the wrong term in the given number series:
8,5,6.5, 11, 26, 68, 207.5
23S bl oz e gy K syl

8,5, 6.5, 11, 26, 68, 207.5

A.68
A.68
A.68

B.6.5
B.6.5
B.6.5

C.11
C.11
C.1

D.26
D.26
D.26

Answer: Gl
C.11
C.11



